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FOREWORD
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of question papers and suggested answers for past examinations. The Council hopes that the

booklet wil] help both teachers and students in their preparation for examinations.
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Section A
Answer all questions in this section.

Rufaro Social Club had the following assets and liabilities on 1 January 2005;

$
Subscriptions paid in advance & 000
Subscriptions due but unpaid 12000
stock of stationery 2 000
Clubhouse at cost 2 000 000
Furniture at cost 150 000
Stock of refreshments 380 000
Creditors for refreshment supplies 200 000
Prepaid electricity 10 000

The following information relates to the Club’s affairs for the year ended 31 December
2005:

Receipts and Payments Accounts for the vear ended 31 December 2005

RECEIPTS $ PAYMENTS $

Balance, 1 January 2005 440 000 Repainting of clubhouse 300 000
Subscriptions 804 000 Stationery 90 000
Sales of refreshments 650 000 Purchase of refreshements 750 000
Raffle vickets 200 000 Secretary expenses 200 000
Donations 85 000 Electricity 110 000

Purchase of second hand
furniture (1 October 2005) 100 000

Travelling expenses 210 000
Raffle expenses 70 000
Balance
- 31 December 2005) 649 000
2479000 2479 000

. e
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Additional information on 31 December 2005 was as follows:

()
(i)
(iit)
(iv)
v)

(vi)

Subscriptions owing amounted to $40 000.
Subscriptions prepaid amounted to $16 000.

Stock of refreshments were valued at $480 000,
Creditors for refreshments supplies totalled $150 000.

Clubhouse was revalued to $3 000 000. No depreciation was 1o be charged on the
clubhouse.

Depreciation on office furniture is to be 10% per annum on cost for each month of
ownership.

You are required to:

(a)

(b)

(c)

(d)

(a)
(b)

calculate the Accumulated Fund at 1 January 2003, (3]
prepare the Refreshments Trading Account for the vear ended
31 December 2005. (4]
prepare the Income and Expenditure Account for the year ended 31
December 2005. [9]
prepare the Balance Sheet as at 31 December 20035, [10]
Distinguish between Capital Expenditure and Revenue Expenditure. [4]
State which of the following are Capital Expenditure and Revenue
Expenditure.
(i) Purchase of packaging materials on credit from Ndonga Ltd.
(i)  Payment by cheque for adapting existing machinery 1o improve
' its manufacturing perforrmance.
(i)  Import dut on machinery parts needed for item ({if) above, paid
by cheque.
(iv)  Payment in cash for carriage on purchases,
(v) Purchase of fuel for business vehicles on credit from Mpopoma
Motors. [5]

TEI2 J2006
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(e) State the account 1o be debited and the one to be credited in each of the
above transactions (i) to (v).

Munashe and Nkosi are equal partners. Their balance sheet was as follows:

Balance Sheet as at 31 December 2005

» $
Capitals: Munashe 150 000 Furniture 40 000
Nkosi 150 000 Machine 70 000
Loan: United Bank 50 000 Motor vans 190 000
Creditors 4 500 Stock 15000
Accrued rent ' 500 Debtors 10 000
Bank 30 000
355 000 __335 000

On 1 January 2006, they decided to admit Patel. their Finance Manager. as a
pariner on the following conditions:

(i) Pate! was 1o bring into the business furniture valued at $60 000 and
$24 000 cash,

(if)  Patel was 1o be paid an annual salary of $50 000,

(ti)  Goodwill was valued at $30 000 and would remain in the books after
admitting Patel.

(iv)  Profits and Losses are 10 be shared amongst Munashe, Nkosi and Patel in
the ratio 2: 2: 1 respectively.

(v) The assets were 1o be revalued as follows:

$

Motor vans 200 000
Machine 67 000
Stock 14 000

You are required to prepare:
(a) Capital Accounts for the three partners.

(b) An opening balance sheet for the new partnership as at 1 January 2006.

THI2/L 2006
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F. Muieva 15 the propriztor of 2 boo

. kshop selling books. periodicals, newspapers,
children’s games and toys, Hert

business 1s divided into two departments:

1

Department .’-‘.. sells boo
sells

ks. periodicals and newspaper
Department B:

games and tovs,
The following informatior: was extracted from her books on 30 June 2006.
Stocks on 1 January 2006:

200 books at $250 each

50 periodicals a &sll )0 cach
wU newspapers at $30 cach
25 games at $1000 each

10 tovs at $500 each.

Purchases up 10 30 June 2006
Books. periodicals and newspapers  $155 000
Games and 1ovs $250 000

Sales up 10 30 June 2006:
Books. p"“iodicaisa and newspapers $360 000
Games and 1oys $450 U0

Stocks on 30 Jupe 2006:;
Books. periodicals and nevspapers $61 000

Games and tovs $70 Q0

The foliowing additional informauon is availabie:

(i) Carriage inwards amounted to 850 000, Th is should be shared between
departments A and B ir the ratio of 1:5 raspectively.
(i)  Warehouse rent incurred for the six months to 30 June 2006 totalied $101 250,

Apportion the rent to the two departments in the ratio of sales made.
You are required to.

(2) prepare the Departmental Trading Account for the twe departments. A and B. in
columpar form for the six months ending 3¢ June 2006, showing ciearly the

gross profit or 10ss 10. each uepartment. 110]
(by  State two characteristics or' 2 prefersnce share. [2]

71 J2006
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(a)

SECTION B

SNSWE any twe questions from this secion

B. Brown Limited vrepares its Balance Sheet on 31 December each year.

The following infvrmarion is available in its hooks:

-

1 1 1 ¥ e
EIEDIOTE on 31 Ledsimber

&3

2000 61200
20601 67 800

2002 63 600

The provision for bad debis is mmntained at 5% of debtors,

You are reguired ¢

(b

1

(i) prepare the Provision for Bad Debts Account for the years
2001 and 2062,

(it} show the Balauce Sheer {extracts) as at 31 Deacember 2001 and

TR
.-'.\.".1_.

re
2]
Pay special attention to dates and detail
The following rrensuctions relate 1o the business of B Banda, a stationery
deaier.
2006
May 1 Stock of unused stationery 400G
it Bougnt stationeny by cheque 6 000
25 Bougar stationery on credit from T, Stationers 5000
3l stock of unused stationery 3060
Prepare and buiunce the Stationer Account, paving partcular atiention
to dates and detai (3]

T2 2oy
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D. Dingani operates a business as a retailer. During the year ended 31 March
2005, the business made a gross profit of 33 4 1% on a turnover of $930 000.
The net profit was 15% of turnover, Her r.lte of stock turnover was 10 times.
The opening stock was $60 000.

(a)
(b)
(¢)
(d)
(e)
®

Calculate for the vear;

the gross profit. [2]
cost of sales, (2]
the closing stock. (3]
purchases, (2]
expenses. 2]
the mark-up. 12]

The following is T. Tatenda’s Balance Sheet as at 31 March 2004:

LIABILITIES ASSETS
$ b
Capital 50 000 Premises 80 000
Long-term loan 70 000 Equipment 20000
Creditors 10 000 sStock 15000
Interest due on loan 5 000 Debtors 8000
Prepaid rates 2 000
Bank 10 000
135 000 135 000

(a)

(b)

Pl i A e v ——

You are required to calculate, showing clearty your working, Tatenda’s
working capital at 31 March 2004, [3]

State the effect. if any, on the working capital on each of the foliowing
transactions. Write down increase, decrease or no effect as vour answer.

(@) New equipment was bought by cheque for $18 000.

(i)  Tatenda bought stock on credit for §35 500.

L2 L2000
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(ili)  Bad debts of $1 200 were written off

(iv) A further long-term loan of $15 000 was obtained and the funds put
into the bank account,

(v) The loan interest in the Balance Sheet was paid off,
(vi)  Stock at book value of $6 000 was sold for $9 000 cash.
(vii)  Trade creditors were paid $3 500 by cheque.

(viii) Tatenda sold her private car and paid the proceeds of $12 500 into the
business bank account.

(ix) A former customer. whose debt of $1 500 had been written off in 2003.
unexpectedly paid the amount he owed.

(x) Equipment was depreciated by $ 2 000, [10]

TLI241 12006
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PRINCIPLES OF ACCOUNTS

JUNE 2006

Hints and Workings

7112/1

This question is testing your knowledge on the preparation of Final Accounts for non-
profit making organizations. Remember that the principles applied on single entry to
deduce missing figures also apply on this topic. Therefore a lot of calculations must be

done before answering the question, e.g.

(W1)
Subscriptions Account
$
12 000 ] Subscriptions prepaid b/d
824 000 | Bank
16 000 | Subscriptions due ¢/d
852 000 |
40 000 | Subscriptions prepaid b/d

Subscriptions due b/d
Income and expenditure
subscriptions prepaid ¢/d

Subscriptions due b/d

(W2) Creditors for refreshments Account
$
Bank 750 000 | Balance b/d
Balanze c/d 150 000 | Purchases
900 000 |
‘ Balance b/d
(W3) Stationery Account
Balance b/d 2 000 | Income and expenditure
Bank 90 000 |
92 000 |
(W4) Calculation of depreciation on Office Furniture
10 X 150 068 = $15 000
1080
10 x 100 008 X 3 = $2 500
106 12

$
8 000

804 000
40 000
852 000
16 000

$
200 000

700 000
200 000
150 000

92 000

2 000



NB. Take note of the following terms:

Surplus income over expenditure or excess expenditure over income in piace of

“*Net Profit of“Net Loss.” - o L

Accumulated Fund instead of Capitai

! r |"

(W5) Profit on revaluation of Club House 3 000 000 - 2 000 000

Question 1 (a) -

Assets

Subscriptions due
Stock of stationery
Clubhouse

Furniture

Stock of refreshments
.Prepaid electricity

a-Bank

Less: Liabilities

Subscriptions in advance
Creditors for refreshments
+-Accumutiated fund

8 000
200 000

Question ¥ (b}

Calcutation of Accumulated Fund

1 00C¢ 000

$

12 000

2 000

2 000 000
150 000
380 000

10 000
440 000

2 994 000

Rufaro _soc%all Cluby: Refreshment Trading Account for the Year Ended 31

December 2005

S Sales Of Refréshments

Less: Cost Of Sales Of Refreshments
Opening Stock
Purchases (750 000 + 150 000 — 200 000)

Less: Closing Stock
Gross Profit

1a2

% g8
: 950 000
380 000
700 000
1080000 ¢ - F
480 000 600 000

350000




1(c)

Income and Expenditure Account For the Year Ende

Subscription (W1)

Refreshment Trading Profit (b)
Raffle tickats (200 000 — 70 000)
Donations

Less: Expenditure:

Repainting of Clubhouse
Stationery (W3)

Electricity (110 000 + 10 000;)
Secretary Expenses

Travelling Expenses
Depreciation:

Office Furniture (W4

Excess Income Over Expenditure

i(d)
Balance Sheet as At 31 December 2005
g
Fixed Assets At Cost
Clubhouse 2 000 000
Furniture (150 000 + 100 000) 250 000
3 250 0G0

Current Assets
Stock Of Refreshments
Subscriptions Owing
Cash At Bank

Eauity and Liabilities
Accumulated Fund

Add: Surplus

Profit on revaluation (W5

Current Liabilities
Creditors for refreshments
Subscriptions in advancs

$

300 000

92 000
120 000
200 000
210 000

i7

i

$
Less: Depreciation

4

7 50K

17 50

L)

=]

480 000
40 000
£4¢ 000

o O
Lo I 0}

h O

d¢ 31 December 2005

$

824 000
350 00C
130 000
85 000
1389 000

239 500
44¢ 000

$

Net Book Value

3 000 000
232 500
3 232 500

1169 00C
4 401 50¢

2 786 00(
449 50(
1000 00X
4 235 50(

166 OO
f

4 4C1 50

B



Question 2

Hints

Questions on capital and revenue expenditure are very popuiar with examiners, Capital
expenditure refers to expenditure on ‘capital goods’ or ‘fixed assets’. Such assets are
used by the business for a period of mere than one year. Revenue expenditure, on the
other hand, are business running expanses, i.e. they are recurrent in nature, e.g. wages
and salaries, rent and rates, insurance, etc. Such expenses are included in the Trading
and Profit and Loss Account, uniike capital items or fixed assets which appear in the

Balance Sheet, With this background of these terms, you should be able to answer the
question.

Question 2 (a)

Capital expenditure is spandling money on the acquisition of fixed assets or adding
value to fixed assets whereas revenue expenditure is spending money on the day to
day running expenses of the business.

2 (b}
(i) Revenus
(i)  Capitai
iy  Capia
(iv) Revenue
fv)  Revenue

2(C
Debit Credit
(i} Packaging materials Ndonga Limited
(D Machinary Bank
(i) Import duty on machinary Bank
(iv)  Carriage on purcnasas Casti
(v}  Motor expanses/fuei Mpopoma Motors
Question 3

Hints and Workings

The question requires stugents to record goodwili on the admission of & new partner.
Remember that goodwill of $30 000 is only shared by the old partners, Munashe and
Nkosi in their old ratio of 1:1. Patel as a new partner did not contribute a*ything in'
that goodwill so will not g2t & share. The same applies to the profit on revaluation; it
will only be shared by Munashe and Nkosi.




In the new balance sheet, take note of the followng:

o  Goodwill should be shown as one of the assets since it would remain in the books.
» Assets revalued should be recorded at their new revalued figures.

« Bank balance alsc increa

SRl

d by $24 00O brought by Patel.

Nsthy

» Capital Accounts should be prepared in columnar form.,

Munashe
Nkos

Question I (a}

Munashe Nkosi
¢ G
2005
Dec
Baianre oid 168 Q00 166 GOC

168000 158000

2 of $30 000
Ve of $30 000

Canital Accounts

Pate;
2005
Dec 31
talance pid
i Janl
Profit on kevaluation
Goodwill
Furniture
Bank

Jan 1 Balance b/d

Balances brought cown on i January 2006 represent the capital figures for the 3

partners, i.e., $168 000 for Munashe and Nkosi, then $84 000 for Patel.

o Furniture increased by $60 000, brought in by Patel

(W1) ~ Pevaluation Account -
g g
Assets which decreased in vaiue: - Assets which increased in value:
Machine 3 000 | Motor Vans 10 000
Stock 1 000
Profits on Revaluation:
Munashe 3 000
Nkosi .3 000 e
10 000 | 10 00C
(W2) Share of goodwilt:

= $15 000
= $15 000
~ Munashe Nkosi Patel
$ $ 5

150 000

3 000 3 000
15 000 5 000
60 000
__________________ 24 000
168000 168 000 84 000
168 000 168 000 84 000



3 (b)
Partners: Balance Sheet as at 1 January 2006
Equity and Liabilities

Capital: Munashe
Nkosi
Patel

Loan: United Bank

Current Liabilities
Creditors
Accrued rent

Fixed Assets

Furniture (40 000 + 60 000)
Machinery

Motor Vans

Goodwill

Current Assets

Stock

Debtors

Bank (30 000 + 24 000)

Question 4
Hints

$
168 000

168 000
84 000

4 500
200

14 000
10 000
54 000

420 000

- _50 000

470 000

5 000
475 000

100 000
67 000
200 000
30 000
397 000

78 000
475 000

This question is designed to test your skills in preparing departmental trac_iing accoqnts.
In this question, remember is the departmental trading account only required. Notice
that the warehouse rent increases the value of goods to be sold since is it incurred
before the goods are sold. The objective is, of course, to ascertain the gross profit f_or
each of the departments A and B. Remember to prepare the departmental account in

columnar form.

Workings:

Carriage inwards
Department A = */s of $30 00,
Department B = °/ of $30 000

I I |

$30 000
$ 5000
$25 000



Warehouse Rent
Department A = jfg of $101 250
Department B = /g of $101 250

Opening stocks:

Department A: 200 books at $350 each
50 periodicals at $100 each
50 newspapers at $50 each

Department B: 25 games at $1000 each
10 toys at $500 each

Question 4 (a)

$101 250
$ 45 000
$56 250

i

$50 000
$ 5000
$.2 500
$57 500

$25 000
$_ 5000
$30 000

nnn

tn

F Muleva: Departmental Trading Account for 6 months ending 30 June 2006

A
$
Sales
Less: Cost Of Sales:
Opening Stock 57 500
Purchases 155 000
Carriage Inwards 5 000
Warehouse Rent 45 000
262 500
Closing Stock 61 000
Gross Profit
4 (b)

Preference Shares

B A

$ $

360 000
30 000
250 000
25 000
56 250
361 250

70 000 201 500

158 500

ettt

B

$
450 000

291 250
158 750

(i) Preference share dividend must be paid whether the business has earned a profit

or not.
(i) Have & fixed rate of dividend.

(i)  The preference sharehoiders have no voting rights.



Question 5
Hints and Workings

(P

(iif)

The policy on provision for bad debts is 5% of the book debtors.

The provision for bad debts will increase as debtors increase or decrease as
debtors decrease from year to year. Sl e
Once the provision for bad debts account has been opened, the increase or
decrease from year to year, is the adjustment which should be credited to the

provision for bad debts or debited to the provision for bad debts account,
respectively.

Stationery Account

0

(i)

The objective of the question is to calculate stationery which was used during
the year which must be transferred to the Profit and Loss Account.

Stock of unused stationery at the end of the year represents stationery still
available.

Question 5 (a) (i)

Provision for bad debts Account

$ $
2001 2001
Dec 31 Balance c/d 3 390 |Jan1 Balance b/d 3 060
' Dec 31 Profit & Loss Account 330
3 390 3390
2002 2002 :
Dec 31 Profit and Loss Account 210 | Jan 1 Balance b/d 3390
Balance c/d 3180
3 390 | 2003 . 3390
Jan1  Balance b/d 3180

Balance Sheet extract at 31 December 2001

Current Assets ' - $ $
Debtors 67 800
64 410

Less: Provisions for bad debts - _ 3390




Balance Sheet extract as at 31 December 2002

Current ts $ $
Debtors 63 600
Less: Provision for bad debts ' 3 180 60 420
5 (b)
Stationery Account
$ $

2006 2006
May 1  Stock b/ad 4000 + May 31  Profit and Loss Account 12 000
May 15 Bank 6 000 | Balance c/d 3 000
May 30 T. Stationers 5000

15 000 | | 15 000
June 1 Balance b/d 2 000 !

Question 6
Hints and Workinas

This is a very common question with examiners, which tests students their knowledge
and application of the margin and the mark-up.

0] In order to get marks, you must show all your workings adjacent to your
answers.

Question 6 (a)

Gross Profit 33*/5 of $930 000
Y3 x $930 000

$310 000

oo

6 (b)

Cost of Sales Sales ~ Gross Profit
$930 000 - $310 000
$620 000



6.(c)

Cost of Sales

(Opening Stock + Closing Stock) + 2

$620 000 x 2
{360 000 +LCS)

$1 240 000
$1 240 000
$1 240 000 - $600 000
$ 640 000
$__ 64000
. $64 000

6 (d)

Purchases

6 (e)

Expenses

Tharefore Expenses
6 (f)

Mark-up

Or Margin
Theref:.-e Mark-up

o oo onh

H

TR T

o

10

10($60 000 + CS)
$600 000 + 10CS
10CS

10CS

cs

Closing Stock

$620 000 + $64 000 - $60 000
$624 00U

Gross Profit — Net Profit
$310 000 - (15% of $330 000)
$310 000 - $139 000

170 500
Gross Profit 100
Cost of Sales 1

$310000 x = 100
$620 000

50%

i) = Vo




Question 7
Hints ‘

Remember the definition of working capital, that (5, current assets tess current
liabilities.

This question requires you to determine if each transaction affects a current asset or
current liability or both and whether working capital would increase or decrease as a
result of the transaction.

Steps

0 For each transaction dacide the two accourts involved.

(i) Next, find out if the balance in each of the two accounts wouid increase or
decrease as a result of the transaction.

(i) If the account represents a current asset, an increase in balance is likely to
increase working capital while a decrease in balance would reduce it.

(iv)  Similarly, if an account is a current liability, an increase in balance means less
working capital and vice versa.

(v)  Effect of both accounts, howevar, has to be worked out, e.g. “withdrew cash
from bank for office use”. Cash balance increases while bapk balance is
reduced by the same amount. As both cash and bank are current assets, the net
effect is that there is no change in working capitai.

Question 7 (a)

Calculation of working capitai,

Current assets $

Stock 15 000

Debtors 8 000

Bank 10 000

Prepaid rates _.2.000
35 000

Less. Current Liabilities

Creditors 10 000

Interest due _5000C 15 000

Working Capita! 20 000

o Mt b r 2



7 (b}

®
(it)
(iii)
(iv)
(v)
(vi)
{vii)
(viii)
(ix)
(x)

Decrease
No effect
Decrease
Increase
No effect
increase
No effect
increase
Increase

No effect
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2
Section A
Answer all questions in this section.

F. Sithole is in business operating a grocery shop. The following trial balance was
extracted from her books on 31 December 2004, '

Debit Credit
$ $
Purchases and sales 96 200 165 000
Capital 119 320
Drawings 9200
Carriage inwards 5400
Stock at 1 January 2004 14 300
Buildings at cost 120 000
Office furniture at cost 23 200
Provision for depreciation
Office furniture on 1 January 2004 2320
Return inwards and outwards 2 600 3 000
Loan from Fast Bank
(payable on 31 December 2007) 24 000
Provision for bad debts on '
1 January 2004 &0
Insurance 900
Stationery 1 880
Debrors and creditors - 13 600 9 020
Wages 20 600
Electricity 6 640
Discounts allowed and received 630 450
Cash at bank g 740 =
223910 2323210

Additional information:
(1) Stock on 31 December 2004 was valued at $12 600,

(ii) Goods worth $6 500 were taken by the owner for her own use. No entry had
been made in the books.

(iii)  Stock of stationery on 31 December 2004 was 5880,
(iv)  Interest on the bank loan is at the rate of 5 per cent per annum.

(v)  Insurance prepaid on 31 December 2004 was $180.

711270 N20Uy
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(vi)  Office furniture is to be depreciated at the rate of 10 per cent per annum using
the reducing (diminishing) balance method.

(vii)  The provision for bad debts is to be increased to $960.

(viii) One quarter of the wages was for staff employed in making extensions to the
building.

You are required to prepare:

(a) the Trading and Profit and Loss Account for the year ended
31 December 2004, _ [13]

(b) the Balance Sheet as at 31 December 2004. | [13]

The following information was extracted from the books of Chiedza Farmers Club:

2003 2004
June 1 May 31
$ $
Subscriptions in arrears 5400 4 800
Subscriptions in advance ‘ 3 750 4 250
Stocks of stationery : 1220 960
Electricity owing - 1100

The following transactions were undertaken during the year ending 31 May 2004.

(1) Subscriptions paid by cheque amounted to $15 000.
(ii)  Subscriptions paid in cash totalled $3 000.

(iii)  Paid $6 000 for stationery by cheque.

(iv)  Paid $3 400 for electricity in cash.

You are required to prepare:

(a)  the Subscriptions Account. 7
(b)  the Stationery Account. - (4"

(c) the Electricity Account. ' | [4]
Pay special attention to dates and detail.

Balance the accounts on 31 May 2004,

7112/1 N2006
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The following assets and liabilities relate to the business of P. Pepukai on 1 July 2003:

$
Premises 250 000
Tools and equipment, at cost 100 000
Motor vans, at cost 150 000
Stock 45 000
Trade debtors 60 000
Bank 27 000
Trade creditors 42 000

The following information was available on 30 June 2004:

(i) Tools and equipment were valued at $90 000 at the close of business.

(i) Motor vans were depreciated at the rate of 20 per cent on cost per annum,
(iti)  Trade debtors owed a total of $75 000.

(iv)  An amount of $5 000 was written off as bad debts,

(V) It was decided to create a provision for doubtful debts of 5 percent on outstanding
debts.

(vi)  The business owed $30 000 to trade creditors.

(vii)  There was no record of a cheque payment of $8 000 to a creditor.

(viii) Drawings from stock worth $12 000 at cost price had not been recorded.

(ix)  Closing stock was valued at $35 000.

You are required to:

(a) calculate the capital on 1 July 2003, [2]

(b) prepare the Balance Sheet as at 30 June 2004, showing clearly the net
profit or loss for the year. - [14]

T112/1 N2006
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(a) An accounting clerk has produced two lists of expenditures for a textiles
manufacturing company which he categorised into capital and revenue,
Unfortunately, the lists are not all correct.

List A List B

Revenue Expenditure Capital Expenditure
Carriage inwards Carriage outwards

Fitting cabinet Office equipment
Insurance Advertising

Packing materials Pavment of dividends
Petty cash for stamp Delivery van

Office desk Factory machinery
Extension to premises Replacement of light bulbs
Salaries and wages. New front tyres for a new delivery van
Licence fees for the new Raw materials

delivery van

You are required to re-write the two lists correctly, [9

(b) Si:lot—on Trading Store maintains the following accounts in its books:
(i) Fittings and furniture Account.
(1i) Nation Wholesalers Account, suppliers to the business.
(iii)  Salaries and wages Account.
(iv) .S. Shanda Account, a customer to the business.
(v) Rent received Account.

You are required 1o state the name of the ledger in which each of the above

accounts is recorded. _ [5]
“(¢) - State three reasons for preparing control accounts. (3]
711271 N2006
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(b}

(&)
(b}

(¢}

6
Section B
Answer any two questions from this section.

Prenare the iournal entries for sach of the fallowine transactions. Norratiors
(i) T. Tshuma. a debtor, had his account balance of $900 written off as a
bad debt.

(ii)  New equipment for office use valued at $30 000 was bought on credit
from City Machine (Pvt) Ltd. '

(iii) A payment of $6 000 bv cheque to National Books was mcorrecﬂ}
entered in National Parts Accounts,

(iv)  Equipment bought on credit from City Machines (Pvt) Lid worth
$7 500 was returned as being not up to specifications.

(v} Interest amounting 51 100 was charged on a customer’s account
balance of $10 000. The name of the customer is G. Gutu. [10]

State any three items appearing on a bank stalement used to update a cash

book. [3]
State any two causes of phvsical deterioration of fixed assets. 2]
State three methods of depreciation. [3]

Calculate the missing figures numbered (i) to (viii) at the f=nd of the first
vear of use.

Fixed Asset| Residual Estimated Depreciation {Net Book
At cost . Scrap Life h Value
$ 5 (Years) 3

10 000 2 000 5 (i) (ii)

(1ii) 4 000 (iv) 4 000 20 000

70 000 (v) 8 8 000 (vi)

80 000 1 3 OOIO (vii) (viii) 69 000

(8]

T112/1 N2006
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(a)

(b)

State any two crrors

(

e
R

not revealed by a trial balance.
(1t} reveated by a trial balance.
Calculate the following:

(i) a final preference dividend on 600 000 20% Preference Shares of
$2 each. tully paid,

{ii) a final dividend of 30 cents per share on 750 900 Ordinary Shares
of §1 each. fuliy paid.

rash puvment for geods thar had @ list price of $13 000, less
33 %% trade discount, and a cash discount of 2+ %,

(iv)  dividend paid during the vear, if dividend cwed at the beginning
of the year amounted to $6 000 and dividend owed at the end of
the vear totailed $15 000, The directors had proposed a dividend
of §25 000 towards the end of the year.

Tl Naule

5y
B
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PRINCIPLES OF ACCOUNTS

NOVEMBER 2006
Question 1

Hints and Workings

7112/1

This is a common question on the preparing of final accounts for a sole proprietor.

(W1)

Goods taken by owner for own use debit drawings and credit purchases.

Therefore:

Drawings
Purchases
Stationery
Interest on loan
Insurance

Depreciation: Office furniture

Provision for bad debts increased

Wages

Buildings

ol

I

il

2

$9 200 + $6 500 = $15 700.
$96 200 - $6 500 = $89 700
$1 880 - $880 = $1 000
57100 X $24 000 = $ 1 200
$900 - $180 = $720

10% of ($23 200 - $2 320)
$2 088

$960 - $800 = $160
$20 600 - va of 20 600
$20 600 - $5 150

$15 450

$120 000 + $5 150
€125 150



Question 1 (a)

Trading and Profit and Loss Account For the Year Ended 31 December 2004

Sales

Less: Returns inwards
Net sales

Less: Cost of sales
Opening stoc

Add: Purchases
Less: drawings

Lass: Returns outwards
Add: Carriage inwards

Less: Closing stock
Gross Profit
Discount received

Less: Operating Expenses
Discounts allowed
Stationery

Less: Stock of stationery
Insurance

Less: Insurance prepaid
Wages

Less: Wages for extension
interest on loan
Depreciation on furniture
Provision for bad debts
Electricity

Net profit

®

96 200

%

14 300

92 100
106 400
.12 600

650

1 000

15 450
1200
2 088

160
€640

$
165 000

2600
162 400

93 80

o

68 600
450
69 050

£
=t id
HE
8
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BALANCE SHEET AS AT 31 DECEMBER 2004

% $ $

Fixed Assets At Cost Less: Depreciation Net Book Value
Buiiding (W8, 135180 . 125150
Office Furniture (23202088, 23200 4 408 18 762
148 350 4 408 143 942
CURRENT ASSETS
Stock 12 600
Stock of Stationery 880
Debtors 13 600
Less: Provisions for Bad Debts SA0 12 640
Insurance Prepaid 180
Bank 8740 35 040
178 982
Financed By:
Equity And Liabilities
Capita! 119 320
Add: Net Profic 41 142
160 462
Less: Drawings (9200 + ¢50C° 15 700
144 762
Long-term Liabilities
Long-term ican (East Bank; 24 000
Current Liabilitias
Creditors 9 020
Interest on loan 12090 10 22¢C

178 982

Question 2
Hints

Since these are records of a ciud, the main objective for preparing the ledger accounts
i5 1O Calculate the amount to be transferred 1o the incems and Expenditure Account.



Remember that the closing transfer for subscriptions account is on the debit side, since
it is income BUT the closing transfer for stationery and electricity accounts is done
through the credit side, these are expenses.

—  For the payments done and the receipts for subscriptions, you have to visualize

the subsidiary book before posting to the ledger.

In order to get all your marks, record the date and details of each transaction in

the accounts.

Question < (a)

Subscriptions Account

-

% )
2003 ' 2003
June 1 Subscriptions in arrears b/d 5 400 June 1  Subscriptions in advance bjd 3750
2004 | 2004
May 31 Income & Expenditure 16900 ' May 31 Bank 15 000
Subscriptions in advance ¢/d 4 250 Cash 3000
) ? Subscriptions in arrears c/d 4 800
26 550 26 550
june 1 Subscriptions ir arrears b/d 4 800 ! June 1 Subscriptions in advance bj/d 4 250
2 (b}
Stationery Account
: s S s
2003 2004
June 1 Stocks b/d 1220 | May 31 Income & expenditure 6 26C
2004 i Stocks ¢/¢ 960
May 31  Bank 6000 R
7220 | 7220
June 1 Stocks bfd 96(
2 (c)
lectricity Account
G| i 3
2004 | 2004
May 31 Cash 2 400 | May 31 Income & expenditure 4 500
Owing ¢/d 1100 S
4 500 | 4 500

' June 1 Owing b/d

i

—
Lo

o



QUESTION 3

INTS

e

e

To calculate opening capita,,

3 (b) Workings:

Denreciation

dequet

on Tools anc E

liahilities from assets as at 1 July 2003,

Equipment

= 5100 000 - @96 000 = $10 009
7 Motor Vanes 20% of $150 0600
= $30 000

e 8 s

5% of (§75 000 -
9% of 570 D00

$5 000)

- $3 500
Stock = $35 000 - $12 000
%23 000
NB  The question reguires you 10 prepare a Baiance Sheex, therefore a Balance Sheet
must be done in which Net Profit or Loss is deduced.

Question 3 (a)
Capital=

(3250 000 +
$632 000 - $42
$590 008

Question 2 (b)

Fixed Assets
Premizas

Tools and Equipment
Motor Vans

Current Assets

Stock

Debtors (75 000 —~ 5 000)
Less: Provisions “or bad agbts
Bank

hesets ~ Liabilities

100 000+ 150 000 + 45 000 + 60 000 -+ 27 00C) - 42 000
000
Balance Sheet as at O June 2004

$ S $
At Cost  Less: Depreciation Net Book Value
250 000 - 250 000
100 000 10 000 90 000
150 000 30 000 120 000
500 000 40 D00 A60 000

23 000

70 000
29500 66 500
.19 00C
108 500



Less: Current Liabilities

Trade Creditors 22 000 86 500
546 500

Financed by:

Capital from 3(a) 590 000

Less: Net Loss 31500

558 500

Less: Drawings 12 000
546 500

QUESTION 4

HINTS

QUESTION 4 (a)

| Remembear that Capital expenditure is the acquisition of fixed assets or adding

i~

value to the existing ones whereas revenue expenditure i spending mongy on
the day to day running costs of the business, or spending money on the items
chargeable to the Trading Account, Profit and Loss Account and Income and
Expenditure Account.

After recalling the definition, now you must be able to classify the items listed as
either revenue or capital expenditure.

QUESTION 4 (b)

Ledger Accounts fall under three major sections, i.e. Real Accounts, Personal Accounts
and Nominal Accounts.

NB:

Real Accounts — Accounts of Assets — General Ledger

Personal Accounts — Accounts of Creditors and Debtors (Creditors Ledger &
Debtors Ledger)

Nominal Accounts — Accounts of Expenses and Gains/Income — General Ledger.

Real Accounts and Nominal Accounts — General ledger

QUESTION 4 (c)

NB:

Control Accounts are neither prepared to correct errors nor do they prevent
fraud.




QUESTION 4 (a)

List A List B

Revenue Expenditure Capital Expenditure

Carriage inwards Filing cabinet
Carriage outwards Office equipment
Insurance Delivery van
Advertising Office desk

Packing materials

1

2

3

4

5 Factory machinery
6 Payment of dividends

7

8

g

1

Extension to premises
New front tyres for a new delivery van
Licence fees for the new delivery van

Petty cash for stamps
Replacement of light bulbs
Salaries and wages

0 Raw materials

o N YU D W

QUESTION 4 (b)

(M General ledger

(iy  Creditors ledger/purchases ledger
(iii)  Nominal ledger/general ledger
(iv)  Debtors ledger/sales ledger

(v)  Nominal ledger/general ledger

QUESTION 4 (<)

REASONS FOR KEEPING CCNTROL ACCOUNTS

B To reduce fraud or cheating.

(i)  To obtain a summary of debtors and creditors
(iii)  To check on arithmetical accuracy

(iv)  For management control purposes

QUESTION 5

HINTS

QUESTION 5 (a)

A complete journal entry must have an account debited and an account credited with
the same amount.



QUESTION 5 (&)

(i Bad debts Account
T. Tshuma Account

i) Equipment Account
City Machine (Pvt) Ltd Account

(i)  National Books Account

National Parts Account
(v City Machines {Pvt) Ltd Account
Equipment Account

~

A Y

(v} G, Gutu Account
Interest Received Account

QUESTION 5 (h)
Bank charges

Direct debits

Credit transfer
Dishonoured chegues

QUESTION &

HINTS

Dr
900

30 000

6 000

7 500

1100

Standing orders

Stop order

Interest (earned/charged)
Direct credits

30 000

6 000

7 500

110C

6 (¢) In all your calculations remembar that the cost of a fixed asset minus its scrap

value divided bv its estimated life is equal to depreciation charge for one year.

Therefore, if given the Net Book Value anc depreciation, you can easily work backwards

to get the cost.

~  Remember that cost minus residual value divided by depreciation per year is

equal to estimated life in years.
NB: Numbering is very important.

QUESTION 6 (a)

Wear and tear
Weathering



Erosion
Rotting
Decay

QUESTION 6 (b)

Straight Line Method/Fixed Insaimant Metnoed
Reducing/Diminishing B dsan-::e- Method
Revaiuation

QUESTION 6 (¢}

0 $1600 (i $8400

Gily  $24 000 (vy 5 years
vy  $5 000 (viy %62 000
(vify 7 y=ars (villy  &11 000
QUESTION 7

HINTS

7 (&) Take note of the following:

ii ) requires rrors NOT reveaied ana

equi e arrors which are revealed by a Trial Balance. Number your answers in
e r thay have heen asked.

7 (b) On (b} (i) calcuiate the dividend on the preferance share capital, of 600 000
shares X 531.0". Therefore Dividend is equal to 20% of $1 200 000,

On (L)) the dividend is 30 cants par share, therafore multiply 30 cents by the number
of ordinary shares.

On (&) (iii) since the list price includes trade discount, therefore daduct the trads
discount and then the cash discount in order t gat the r"‘b"n Daymeﬁnt

On b (iv) the company should have paid $6000 owing at the beginning plus $28 000
proposed for the year but since $15 000 was ov ving at the end, it means oniy a fraction
of $28 000 plus $6 000 owing at the beginning, were paid.



QUESTION 7 (a) (i)

Errors NOT revealed

1 Errors of principle 4 Errors of commission

2 Errors of omission 5 Compensating errors

3 Errors of original entry 6 Complete reversal of entries

QUESTION 7 (a) (ii)

Arithmetic errors, i.e. wrong addition and subtraction
Incomplete double entry

Omitting a figure from the ledger to the Trial Balance
Completing double entry with different figures
Posting figures to the same side. '

QUESTION 7 (b)

162 NN 0 B N Y S

(1) Final Preference dividend 20% of (600 000 x $2)
20% x $1 200 000

$240 000

30¢ x 750 000
$225 000

$15 000 — (33%4% of $15 000)
$15 000 - $5 000

$10 000

$10 000 — (2V2% of $10 000)
$10 000 - $2.50

$97.50

$ 6 000 + $28 000 - $15 000
$34 000 - $15 000

i h

(i)  Final Ordinary dividend

I

(i)  Cost Price

nun

Therefore payment

(iv) Dividend paid

$19 000
OR
Dividend Account
¢ o | $
Bank ' 19 000 ' Owing b/d 6 000
Owing c¢/d 15 000 Profit & Loss 28 000
34 000 | 34 000

Owing b/d 15 000

11"
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Section A
Answer all questions in this section.

M. Mushava is a manufacturer. On 31 December 2004 the following balances were
extracted from her books after the preparation of the Manufacturing Account for the year
ended 31 December 2004;

§
Cost of manufactured goods 635 600
Sales 996 000
Stock of finished goods at 1 January 2004 45 800
Stock at 31 December 2004: Finished goods 59400
Raw materials 89 600
Work-in-progress 85200
Factory wages outstanding 13 400
Office salaries 55 800
Office rates and insurance 22 800
Motor expenses : 27 400
Debtors 83 000
Creditors 70 600
Plant and machinery, at cost 447 000
Motor vehicles, at cost 424 000
Furniture and Fittings, at cost 88 000
Cash at bank 47 800
Provision for bad debts at 1 January 2004 ' 3 000
Provision for depreciation at 1 January 2004:
Motor vehicles 84 800
Drawings 46 800
Capital at 1 January 2004 800 000
Long term loan from Midas Finance (obtained on 30 September 2004) 98 000

The following additional information is to be taken into account:
(i) Depreciation of plant and machinery is $33 000.

(ii) Depreciation of furniture and fittings is 10% per annium on cost, and motor
vehicles is 20% per annum on the reduced value.

(iii) A debt of $3 000 is to be written off as irrecoverable and the provision for bad
debts is to be adjusted to 5% of debtors.

(iv)  Loan interest at 20% per annum is owing.

711211 12007



(V) Prepaid insurance amounted to $3 200 and $400 was due on rates.
(vi)  An amount of $200 was owing for office salaries.
You are required to prepare:

(a)  the Trading and Profit and Loss Accounts for the year ended
31 December 2004,

(b)  the Balance Sheet as at 31 December 2004,

The following information relates to the business of M. Mwanza who owns a
Driving School.

2003
Jan 1 Bought two motor vans at a cost of $750 000 each in cash.

2004
Sept 30 Purchased one motor van at a-cost of $900 000 by cheque.

[11]
[15]

One of the motor vans bought on 1 January 2003 was sold for $500 000 cash on

30 September 2004. '

Depreciation is at the rate of 20 percent per annum on cost for each month of
ownership.

(a) You are required to write up for the years 2003 and 2004:
(i) the Motor Vans Account.
(i)  the Provision for Depreciation Account.

(b) Draw up the Motor Vans Disposal Account.

(c) Write up the Balance Sheet extracts as at 31 December 2003 and 2004.

T112/1 32007
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4

Write down the word(s) or figure(s) required to complete each of the following
sentences. Do not write the whole sentence.

(a)

(b)

(c)

(d)

(e)

()

(g)

(h)

The profits made in a bar trading account were $66 000. The barman is
entitled to a commission of 10% of the profits. The commission earned
by the barman is §

A negative bank balance is shown as a balance on
the bank statement.

The errors of oceur when a transaction is entered in the
wrong class of accounts.

The total shareholders funds ( eqmty) include (i) share
capital and the (ii) '

Interest on drawings is debited to the partners (i) - accounts
and credited to the (ii) account,

Legal costs incurred in the transfer of freehold buildings are known as

(1) expenditure and wages of workers engaged
in bu1ldmg extension are classified as (ii)
expenditure,

Accounts of suppliers of goods are recorded in the
ledger. -

The list price of goods is $120 000. The trade discount is 33 1% and cash
discount 1s 5%. The final amount paid by the trader is
(i) $ __ and the discount received is (if) $

TL12/1 J2007



A

On 31 July 2003, the balance she

S, Nsmeao:

Balince Sheet a

¢t of S, Nsingo was as follows:

sal 31 Juiv 2005

I
ASSETS | EOUITY AND LIABILITIES
Fixed Assers S P g

750 000 |
100 600

250 000

Land and buildings
Tools and equipmen:
Motor vans

Capital 1 000 000

Long Term Liabilties

1100 000

Current Assets

Stocks 130 000
Debtors ERIEA

90 B0

Via.anh

Cash at bank
Cash i hand

On ) f\'!"uq* 2005, N e soid he
being made by chequs on the

oiliiies except ths Cash

» business 1

¢ same day,

Lean-Developmert Bank 450 000

Currznt Liabilities

Creditors 350 000
1.800.000

T Tambo for 2 460 000, payment

Tambo agreed to take over all assets and
a1 banl: and in hand.

It was agreed that the ullowing be valued as follows: S

Land and buildings G50 000
Tools and equipmem 130 Q00
Muoior vans 500 004
Stociks 120 66O
Tambo introduced §3 300 000 inw the busiess of which $340 000 remained as
cash.

A provision Tor dotb:ful devts of $20 000 was created,

You are required to:

{a) caleulate goodwil,
(b)  show the opering balance shest of T,

ey
o
(5]
e

Tambo asat 1 August 2005,

|
fammd

—

ITarn over
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anital o) "Wah
Auvtherised Shure
2000 000G ST

S04 000 9y
Issued Share Capiai
1 300 6030 §1 Ordinary soares
1000 000 Qb §1 Prad

Capital
Crrdinary snare
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Net Tradine Profit for 20

Genera! Reserve
] ‘.J' pafl 1 ¢ bl. Lt ey
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internn preference
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SECTIONB

questions rom this section

Vg s A1 December 2004 was as foliows:

2000 060
1300 GO0

1300 000
[ 000 000
nber 2004,

. - ¥
wed 31 Deceny

2 U I a)(“’)
500G 000
106 000

45 000

yine Cieneral Regerve Account

U2 QOLAr DY Paii L ordinar. sha

AT TR 3 g
IR i e o

- share! noldess,

avi Acepunt for the vear ended

December 2003, showing clearly the

tunds and total capital fund,

reholders,

—=
L1
—

oo
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The fellowing information relaies 1o the business ol Khumalo Advertising
Agents.

CASH BOOK (BANK COLUMNS ONLY)

b ALY

2006 S 2006 g

Mar 1 Balance brd 90 (00 1 Mar 2 Drowings (061) 43000
10 F. Flowers 110000 | 7 Citv Motors (062) 30 000
13 Sales 63 300 | 12 T, Stationers (U63) 76 000
15 T. Seeda TSe3 | 16 Corner Photos (064) 100 000
20 Sales 80 000 | 200 Wages (0635) 160 000
31 Balance ¢/d UM 26 City Motors (066)  _35 000

|

446 000

Khumalo s Bank Swatement fov the month of March 20006 was as foliows:

DATE | DETAILS | DEBIT l CREDIT | BALANCE
e | | i
2006 | S | g | §
Mar 1 | Balance | | 90000
2 1 Withdrawal 0ol | 45000 | ' 45 000
7 | City Morors 062 | 30 VUV 15000
13 1 Deposit ' E 65 300 80 500
20 | Deposi ’- 80000 160 500
Withdrawul 063 |i 150 000 : 500
25 1 Credi wransiern ; | i
. Dividends ?. | 136 500 157 000
28§ Stanaing order: } "
. Insurance t 57000 | 100 000
| Bank charges L3R 000 | 45000
| Direct credrt, i E ?
A Amos | 75000 | 120000
S E Corner Photos poa 100 0w l l 20 000
:. E i
You are roquirad o
{a} write up the updated Lash Booi. 6]
(b} prepars the Bank feconcibation Statement as on 51 March 2006, 7]
! N

" urp over




(4}

(b)

&

Cross Roads Store made the fellowma wransactions during the month of
April 2006:

2006

A | i ¥l l_w‘w- % ¢
AT ant LJ._...:. i k0

equipment valued at 866 000 on credit from
Eguipment Suppiies Limited,

6 ¥ urc‘:‘.:is.:cu staiionery for office use worth $9 000 on credit

crom City Stauoners,

i'.., wirned some of the office cquipment of inferior quality
valued at 36 000 to Eauipment Supplies Limited.

15 T.ohiveka’s Account amounting 10 $21 000 was vritten
0iT as 2 bad dely.

i Recenved a siatememt of account from City Stationers
showing an amount of §350 as interest on the account
balance.

G S

You are required o seepare journal entries for the ahove Transactions.

Narrations are not v -.;uxiuf. (10}
whether each oi the following i+ a Real Account or 2 Nominal

ALcount.

(1) Furnituze for office use

{il) Goods bought ior resals

(i ‘S!_zuicm..:r} por oiTiee use (3}
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Question 1 p

Hints and Workings

(1) A manufacturing account has been prepared so there is no need to prepare one;

(ii) Production cost of finished goods ($635000) is added to opening stock of finished goods in the
Trading Account;

(iii) It should also be noted that depreciation on plant and machinery ($33 000) for the year was charged
{0 the manufacturing account already done so double entry is completed in the balance sheet.

(iv)  Provision for bad debts:

Debtors $83 000
Less: bad debts $.3000
$80 000

Sf'rmu x 80 000
$4 000

il

$4 000 - $3 000
$1 000

Therefore increase in provision for bad debts
Debit to profit and Joss account

Won

(v) Loan interest 20/ 00 % $98 000 x %/

Debit to profit and loss account = $4 900
(vi)
Office rates and Insurance
$ ‘ $
2004 2004 .
Dec 31  Balance 22 800 | Dec 31 Profit And Loss Account 20 000
Amount due ¢/d 400 Amount prepaid ¢/d 3200
23 200 23 200
Office Salaries Account
_1_ I . — . 2
2004 2004
Dec3!  Balance 55 800 | Dec 31 Profit And Loss Account 56 000
Amount owing c/d 200
56 000 | 56.000

|



fal M. Mashavza:

Trading and Profit and Loss Account for the vaar ended 31 December 2004

Sales

Less Cost of Sales

Opening Stock - nnishies. ¢o
Add: Cost of munufs

Goeods available for sale
e85t Closing stock — finished goods

i

Gross Profit
Less: Expenscs
Office salaries and wages 25 8§00 = 200
Rates and insurancs (22 806 - 00 - 5 200,
Moror expenses

Bad debts
Increase m Provasion o bad devis
Depreciation Mowor valipglss

Furntowre and Finines

interast or loan
Net Profn

by

S N
635 600

P

681 460
-\(1 l“r

506 000
240 000
27 400
2000
L GO0
07 %40
8 8(}(3

>
996 GO0

622 004
374 600

188 940
185,060

M. Mashava: Balance Sheet as at 31 December 2004

Fived Assets

Piani and m:xc:nn-a"\

Motor vehiclag (84 800 - 07 840)
Furniture and fnungs

Current Assoers

Stocks” Raw malenais
Work-in-piogr
Fmished gooe:

:_);:'l)l,—\m; (83 (00 - 200 by
Less Pm\mm, for bada Jdebis

Prepaid insurance
Cash at bank

Less  Current Liabilities
Creditors
Factory wages outstanding
Loan interzsi dug
Rates owing

Office wages dus

W oriang capug!
Nel Assers

COST

447 00K

424 00
b 00

89 (NG
85 200

-\u U\I

K0 000

_4.000

T3 600
L3400
4 900
4
200

|
|
|

76 006

3200
.47 800
361 200

89300

NBV

414 060
271 360
19200
764 560

271700
1036 260



Financed hy:
Cs | Januan

. L‘;‘L"‘I

Nz Profi

L 5

Drawinys

Onvper’s Eouity

CoRO0 GO0 | ’:
[ ]

1850640 5

I U3 060 1

46,800
Q3 260

|
Long Term Liabilities | 5. il
Loan from Midas Finance i | - Q8 000
| | | 1036260
Question 2 . 5

Hinte and Workings

o

secount and 1

3 ) PP TN P P iy
ending on 31 December 2o

The mowr vans

{1

Tanc 3 D

1e provision for depreciation accoun: are for twoe financial vears

camber 2004

(il} Motor vans dispesal account 13 nrepared in 2004,
(i Caloulanon of depreciation

2003 w1 SO0 Gk = s30ua00

2004 Frygex LS00t = 8225000

Plus Vi 8.0 GRERa . =
(v Caleulanon of nrosvision tof deprecicton for the motor vans disposed 0T,
2 el

Motor Yans Account

2004

dan | Balance b o
Sepi 30 Bant

ol il <

Jan | Baiance bed

1 A00 000
1 200 000

pi
ba

00000 Sept 30 Motor van disposal 750 Q0U
Y0 006+ Dree 31 Bulance ¢/d 1630 000

_.ﬂfiﬁu[‘ﬁl

2 400 000



Lh

(a) (i) ,
Provision for Depreciation Account
2003 $ 12003 $
Dec 31  Balance c/d 300 000 | Dec 31 Profit and Loss 00 000
300 000 300 000
2004 2004
Sept 30 Motor van disposal 262 500 | Jan 1 Balance b/d 300 000
Dec31  Balance ¢/d 345 000 | Dec 31 Profit and Loss 307 000
607 500 607 500
2005
Jan 1 Balance b/d 345 000
(b) Motor Van Disposal Account
2004 $ | 2004 $
Sept 30 Motor van 750000 | Sept 30  Cash 500 000
Dec31  Profit and Loss 12 500 | 30 Provision of depr 262 500
1 500 000 762 500
(¢) M.Mwanza: Balance Sheet extract as at 31 December
2003
Fixed Assets COST DEPR NBV
Motor Vans 1 500 000 300 000 1200 000
2004
Motor vans 1 650 000 345 000 1 305 000
3 (a)  $6 600
(b)  debit
(¢) principle
(d) (i) issued
(ii) reserves
(e) (i) current
(i)  profit and loss appropriation
3] (i) capital
(i)  capital
(g) purchases/creditors/bought
(h)y (i) $76 000
(i)  $4 000
Question 4
Hints and Workings
(1) Since the purchase price is greater than the net assets taken over then there is positive goodwill.
(1)  When calculating goodwill the following assets should be taken at their revalued figures:-

b
Land and Buildings 950 000
Tools and Equipment 150 000
Motor Vans 300 000
Stocks 120 000
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(iii)  Cash at bank $90 000 and cash in hand $110 000 shquld not be taken to T. Tambo’s opening
Balance Sheet,
4 (a) Calculation of Goodwill:
$
Land and Buildings 950 000
Tools and Equipment 150 000
Motor Vans 300 000
Stocks 120 000
Debtors 350 000
Less: Provisions for bad debts 20 000 330 000
1 850 000
Less: Liabilities
Loan — Development Bank 450 000
Creditors 350 000 800 000
: .1 050000
Therefore Goodwill is
Purchase price 2 460 000
Less; Net Assets taken over 1 050 000
Goodwill 1410000
4 (a) T, Tambe: Balance Sheet as at 1 August 2005
Fixed Assefs $ $ $
Goodwill 1 410 000
Land and buildings 950 000
Tools and equipment 150 000
Motor vans 300 000
2 810 000
Current Assets
Stock 120 000
Debiors 330 000
Bank (3 500 000 - 2 460 000 — 340 000) 700 000
Cash 340 000
1 490 000
Less Current Liabilities
Creditors 350 000
1140 000
3 950 000
Financed by:
Capital 3 500 000
Long Term Liabilities
Loan Development Bank 450 000 .
' 3 950 000
Question §

Hints and Workings

(1)

Interim {mq final dividends paid to ordinary shareholders should be shown separately in the
appropriation account; interim and final dividends paid to preference shareholders should be
shown separately in the appropriation account.



(i)
(1i1)
(iv)

(v)

th

Less:

(b)

7

General reserve $110 000 to be debited 1o the appropriation account.

When preparing the balance sheet extract, it should be noted that the shareholders’ funds
(equity) is equal 1o issued share capital plus reserves: and the total capital fund is equal to
shareholders™ funds plus long-term liabilities.

Calculation of final ordinary dividend:

10c  x 1500000+ 100 ¢ = $150 000
Calculation of final preference dividend:
= 9100 X $1 000 000 = $90 000

Since an interim dividend of $45 000 was paid during the vear, therefore the final dividend of
$45 000 should be paid at the year end.

Willowvale Ltd: Profit and Loss Appropriation A/c for the vear ended 31 December 2005

5 $ $
Balance (31.12.04) 550 000
Net Trading Profit for the year 750 000
1 300 000

Appropriations
Ordinary Share interim dividend 100 000
Ordinary Share final dividend 150 000
Preference Share interim dividend 45 000
Preference Share final dividend _45 000

340 000
General Reserve 110 000 450 000
Undistributed Profit 850 000

Willowvale Lid: Balance Sheet as at 31 December 2005

Authorised Share Capital_ $ $

2 000 000 %1 ordinary shares 2 000 000

1 500 000 9% $1 preference shares 1 500 000
3.500 000

Issued Share Capital

1 500 000 $1 ordinary shares fully paid 1 500 000

1 000 000 9% $1 preference shares fully paid 1 000 000 2 500 000

Revenue Reserves
General reserve (200 000 + 110 000) 310 000
Undistributed Profits 850 000 1 160 000
3 660 000

Shareholders Funds

Long Term Liabilities

10% Debentures _ 500 000
Capital Funds 4 160 000




Question 6 y
Hints
(i) Start the supplementary cash book with an overdraft of $24 850, and do not copy all the entries

(ii)

(i11)

(iv)

)
(vi)

{(vii)

from 1% March because this will not earn you rarks.

Items (entries) in the bank staterent but not app earing in the cash book should be identified:
standing order — insurance $57 000; bank charges $55 000: credit transfer dividends - $156 500,
direct credit — A. Amos - $75 000

These items should be entered in the cash book to update it.

Jdentify items (entries) in the cash book which are missing 1n the bank statement:
cheques 063 - $67; 066 - $35 00 and deposits F Flower - $110 000 and T. Seedat - §75 650.

These items form part of your Bank Reconciliation Statement.

Remember that in your supplementary cash book that overdraft of $24 850 is an opening credit
entry.

Take your new balance or overdraft from your supplementary cash book to the bank
reconciliation statement.

(a)
Updated Cash Book
2006 , 2006
Mar 31 Credit transfer: March 31 Balance b/d 24 §50
Dividends 156 500 Standing order:
Direct Credit: Insurance 57 000
A, Amos 75 000 Bank charges 55 000
e . Balance ¢/d 64 650
231 500 231 500,

(b) Bank Reconciliation Statement as o 31 March 2006

Balance as per Cash Book 94 650
Add Unpresented cheques '
063 76 000
066 35 000
111 000
205 650
Less: Deposited cheques not yet cleared:
F Flowers 110 000
T.Tambo 75650
185 650

Balance as per Bank Statement 20000
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Banl. Reconciliation Statement as At 31 March 2006
5

2 A

Balancs as per Bank Swiemen
Add: Deposits not ve: clearsa
F. Fiowers L0080
T, Seedar 75 &30

0 O00

185 650

205 630

Less: Unpresented chequas
U63 76 000
Sl 35 060U 11 000

Balance as per cash book 94 650

Guestion ~
Hings

(i) This 1ype of & question s esting vou on the basic double entry svstem. You shouid be able to

identify 1we accounts which are aifectzd on each transaction.

(ii)

10 ask voursel! these gquestion:

ARTEFBRS

Doudle entry s vstem nead raranu thought i vou are o score high marks. The best approach is

e Which two accovnte dre affecied”
o Wmch account ¢ recaiving”
o  Which account 15 pving’

(it Remember thar & compiot: double aniny bas got an account debited and an account credited with
the 3ame anount

(v} Remember thar assets acoounts are real accownts and expenses and incomes are nominal
accounts

vy Wrnting narrauons afier the journal eninie

s will not earr vou marks since they are not required.

(a Cross Road Store: The bournal

DEBIT CREDIT
A $

April §. Office Rquipment a6 000

|
2000 i
|
Equpmen: Supphes Lid |
& Siationgny { GO0 !
( '::‘\' Stauoners | | 9 000
L Eguipment Supphies Lid O 00 !
Office Equipment i L6000
|

66 000

13 Brad detns P21 ou ?
T Swvoke 5 21 000
24 intgres: Pavable S50 i

Cuv Sationers .. i 230



(b,

He

™ Gl iR gl T J 2 T I i
Furniiure far oo s - Real Accoun.

o for resme - Notunal Avceum

Goods b

Sranenery (o7 ¢iTe2 us? ~ NOMINA Account
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Sevtion A

Answer all guesnons in this section

A, Mpalz and W

e Profits and losses

o D.‘Cll v .,J\

"
e

e Intere " fi s
mnerast on Cap ‘.l.«-h ,‘: T

*  Mpalaisic re
Interest on At
dplml accounts

wings

The following baiances were estracted
after the preparation of the Tt ;

Tria; balance as ¢

whomo are in

anve

cerve an annual satary of §

10t

3 1
iR ATty e o
PANNSILLID il

0 0F snarsc
=1
ALy

e “U{,
Jeay U f

' '
T e

iaiad B ELE

it 33 Dsceniber 2005

Lo aifn . '&
etween M

g 2 & N )‘
ved ot 10% per ann

from the paroership

their surecrsent bas

pala and Nkomo in the ratio 3:2

.u

e charged at 3% per annu

.
are o remein

\JO’)}\.: on

the foliowing:

-~

531 December 2003

Land and buildimgs
Fumiture, at cest
Debiors

Bani:

General CRPINETE
Rates and inaurance
Stogiz: 31

Current azcounts: A
W,

T aeRcalilanon on hgnnure,

Provision 1o
Crross profit
xr= Hers

Loun - SADC (rep

Diecember 2008
A AL hinaiz
'_ N

avable on 30 2t

KO0

L3 1 4
A R
TR B SO

Nkomo

Muopala

NEomo

e 00T

danuary 2005

| $

Debit

Credit
| h

750 090
260000
29700
| 24000 |
46 650 |
L R8O
I 27130
b 34000
L 30500 r
5 395000
1 I 380000
! 2500 |
L 4000
! L 39000
*5 | 500 000
| 18 300
1 100000
TTT 36 500 T 1236 300
LTI




(8]

Additional information:

(i}

mterest on loan at the rate of 10% per annum is owing on 31 December 2003.

Furniture is to be depreciated by 15% per annum on the reducing balance
method.

A telephone bill of $350 is owing on 31 December 2005, Telephone is
included in general expensss,

You are required 10 prepare:

(a)

b)

For ez

the Partnership Profit and Loss Appropriation Account for the vear
end ed. 31 Deccmm, 2005 [11]
the Balance Sheet as ar 31 Dacember 2005, [15]

ch of the following ransactions given below, name the subsidiary book

used. the accoum debited. the account cradited and the source document.

Your answer shouid be in the form of a table as given below. An example hag
been done for vou,

Exampie: Bought o motor van for $200 on credit from 1.J Motors

Subsidiary ' ceount | Account Source

Book | Debited i Credited Document
i L '
eg  Journal Pvwgper |  Moior Van J.J Motors Invoice |

.,.

Bought goods for $3 A00 on credit from P. Poshai

Crumai Transport Operators charged the business $600 for carriage on
purchases.

Pa:d for stationery $1 500 ow o petty cash

WA TAY L AR
HIL el

[Turn over
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(v) Sold goods on credit 1o B, Banda for $6000.
(vi)  Withdrew $10 000 from the banx for private use.

(vii) A cheque of S& U0 received from T. Thandiwe, a debtor, was
dishonoured by the bank,

(viii) Soid an oid rvpewriter for $5 00y on credit we J. Jameia.

(ix)  Received spoiied gooas from B. Banda $2 000 in respect of goods sold
o him on (v) above, [18]

T.Tsuro prepared the foliowing Trial Balance from her ledger balances on 30
June 2004, Unfortunately. the 1otals disagreed and she had 1o open a Suspense
Account for the difference.

Tral! Balance as at 30 fune 2004

Credn
‘ $

22 409

J e
'; h

Capital ~ 1 July 2003 |
Drawings ‘I 15 200
Debiors { 16 560
\ | w
Cash at banic i 7474
|
i
]

Fixtures and fittings 8 400
Stock - 1 July 2003 11 739

Creditors : S A40

Sales 164 240

Purchases C1ET 600

General expenses L i1 800 |

Suspenss ! i 313
L 222 704 222704

Subsequently. investigations were carned out and the foliowing errors were discovered.

(1) A sale to M. Muleya of £294 was correctly entered in the Sales Day
Book bur was wrongly postes t¢ M. Muleva account at $349.

{1i) Tsurc s private expenses ¥/ nad been debited to general expenses
account,



{111}

(a)

(b)

o~~~
2

irs

A standing order for $300 for pavment of electricity bill had been posted
10 the wrong side o7 the bank accoum but correctly posied 1o the general
expenses account.

The Purchases Day Book had been undercast by 8400,

A Purchases ledger credit balance of $360 for 7. Zano had been omitted
trom the inia! balance figure.

You are required io prepare:

Journal entries 1 correct the above errors, (10}
(Narratives not reguired),

The Suspense Account siarting with the difference from the Trial
Bajance. [3]

The Trial Balanze as it would appear after the correction of all errors. 6]

Write down the word(s) or figure(s} required o compicte cach of the following sentences.
Do not write the whole sentence.

(d)

(e)

Carriage inwards 1s charged 1¢ the (i) _ Account, and
carriage ourwards is debited 1o the (if) _ _ Account.

Loans that are going tc be repaid in full within the next six months are shown
under (]) . Jiabilities, and goodwill is classified as
(ii) ) assen,

Stock of stationery at the close of business is shown in the Stationery Account as a
_ balance,

The accouniing 2guation tha: shews how e business is being financed is stated as
(i) N = (i : _— + labilides,

The prevision for bad debts on | January 2004 was $6 500, The sundry debtors on
31 December 2004 were $150 000, The provision for bad debts was maintained

at 5% of debiors. The provision transferred 1o the Profit and Loss Account is
{i; and tae net debtors amount 1o (i) §

IR0

{Turn over
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Given that the towal fixed assews are $600 000, current assets $280 000, long-term
liabilittes $8C 000, and current hiabilities $100 0G0, The worling capital is equal

1§

The opaning stoch 07 a businegss is valued at $73 000 and its closing stock at
£25 000. The business cost ot saies totay $250 000, The rate of stock
urnover is - Times. 1]
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SECTION B

Answer any two questions from this section

The following information was available in the Sales Ledger of B. Chikomo on 1 March
2005,

A, Mutema’s Account $15 000 DR

The following transactions were made during the month of March:

2005
Mar 3 - Sold goods to Mutema for $20 000 less 20% trade discount.
9 Mutema was charged $1 500 interest for late payment.
15 Mutema paid $16 500 by cheque.
18 A credit note for defective goods was issued to Mutema in respect of one

guatter of the goods sold to him on 3 March.

20 Supplied further goods to Mutema valued at $30 000, .

.30 Mutema paid §11 500 cash in full settlement of the amount owing on the
goods sold to him on 3 March.

25 Mutema received a debit note in respect of an undercharge of $3 000 on
the invoice of 20 March.

28 Mutema paid $18 000 by cheque and was aliowed a discount of $800.

You are required to prepare Muiema’s Account anc balance it on 31 March 2003,

Pay special attention to dates and detail. {131

The foliowing information appeared in the books of P. Phiri:

b
(1) Creditors-at 1 November 2004 14 100
(ii) Interest charged on overdue accounts 2115
(ifi)  Cash and cheques paid to creditors 33 910
(iv)  Discounts received 2205
(v) Credit purchasés for November 34 200
(vi)  Goods returned to creditors 1130
(vii)  Cash refund from a creditor 120

7112/1 N2007
[Turn over
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You are required to:

{2) Prepare and balance the Purchases Ledger Control Account for the month
of November 2004.

e
et |
M |

(b}  Name the books of original entry from which each of the entries
(11} to (vii) would be obrained. [6

L

M. Maushe, e retailer, did not keep his books on the doubie entry principle but
his valuation of assets and liabilities on the dates shown were as follows:

2004 2004
1 January 51 December
$ §
Motor vehicles, at cost 75 000 175 000
Fixtures, at cost 131 000 151 000
Debtors - 82 500 97 600
Creditors 64 000 ' 56 700
Bank overdraft 18 900 “
Stock 45 840 4% 260
Cash at banic . 19400
Frepaid expenses G 620 ': 3170

You are required io prepare:
{a} a statement showing Maushe's capital on 1 January 2004, - [3]
(b) @ statement showing clearly Maushe’s Net Profit or Loss for the year
ended 31 December 2004, taking into account the following additional
information obtained from Maushe on 31 December 2004
{i) $5 600 of the debts are 10 be writien off as irrecoverablie.
(i) Depreciate motor vehicles by 10% and fixtures by 5%.

(i)  Maushe had withdrawn $15 750 from the bank for private
- purpeses during the vear,

(iv}  During the vear Maushe soid his private vehicle for $28 000 and
deposited the amount into the business banl: accour. (10

T2/ W2067
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Hints and Workings
Hims

(i)  Note that the question is for a parmership where after calculating net trading profit, an
appropriation of this profit is required. o

(i)  Since gross profit is given, one has 10 start from the profit and loss appropriaton account.

(iif)  Parmer’s current accounts are an integral part of the financial statements of a parinership firm
and these can be prepared either outside the balance sheet or within the balance sheet but the
final balances should be used in the balance sheet if you are to eam marks.

Workings:

(i)  Interest on loan Wiee x £100 000 = $10 000
Gi)  Depreciation’ on furniture e X ($260 000 - $39 000) = $33 150
(iii)  General expenses ($46 650 + $330) = $47 000

(iv) Interest on drawings should be added to net trading profit; interest on capital and partners’ salary
debited to profit and loss appropriation account.

1(a) A.Mpala and W. Nkomo Profit and Loss and Appropriation Account for the year ended
31 December 2003

5 >
Gross Profit 300 000
Less: Operating Expenses
Interest on loan 10 000
General expenses (46 650 + 350) 47 000
Depreciation: Furniture 33 150
Rates and insurance ' 31 800 121 950
Net Trading Profit 178 050
Add: Interest on Drawings |
A. Mpala Yo x $34 000 L1700
W. Nkomo oo X $30 500 | 1525 353
| 181275
Less: Interest on capital
A. Mpala o % $395 000 39 500
W. Nkomo W0 x $380000 38 000
Salary: A. Mpala 36 000 113 500
0.
Share of Profit:
A. Mpala s x $671775 40 665
W. Nkomo Y, x $67775 27110 67775

ok



I(b)

-
L]

A. Mpaia and W. Nkomo Balance Sheet as at 31 December 2005

Capital Emploved 5 $ ' $
Capitals: A. Mpalz 395 000
W Nkomo ‘ 380,000 775 000
Current Accounts [ A, Mpaia W. Nkomo
Balance b/f | T(s00) | 4000
imerest on capital _3_”_,59_0 38 000
| 37000 42 000
Salarv i 36000 | -
Share on Profit 40665 | 27110
113665 | 69110
less: Drawings | 34000 | 30500
L 70665 | 38 610
Jess: Imerest on drawings {1200 ) _LS28
| .11965 | 31085 115 050
_E i 890 050
Long-term labilitics
Loan - SADC Bank ; i 100 000
| 990 050

Emplovment of Capiral

Fixed Assers . Cost | Acc. Depreciation N.B.V
Land and buildings 750000 ' . 750 000
Furniture (39 000 + 33 15() b 260 000 72 150 187 850
1019000 i 72130 937 850
Curvent Assets !
Stock L ORISR a
Debtors L29700
Bank t_24000 | 80 850
|
Less: Current Liabiliies ‘ |
Crednors L 18300 ;
Interest on loan i 10000 |
Telephone bill accrued b 350 : 28 650
Working capital ' L 52200
i' ! 290 050

Question 2

Hints

(1)
(i)

(1}
Vv

fv)

Do rot copy the exampie, vou will not samn marks from it it is just a guide,

Remember that subsidiary books are not account names therefore should be written in full. e.g.
purchase journal or book NOT just purchases.

Goods bought on credit are accompanizd by an invoice in this case its a purchases invoice and
for credn: sales — it 15 4 sales mveice.

Names of creditors or debtors should be written i full 2.4 Gumai Transport Operators NOT
just Operators ,

A dishonoured cheque from a debtor should be credited 1o the cash book and re-debited to the
debior's account in order 10 repiace the debt once cicared.




2 Subsidiary Account ., Account Source |
: Book Debited | Credited | Document i
i |
) Purchases Purchases {  P.Poshai Purchases
5 Journal ', i Invoice :
! : |
(ii) Journal Proper Carriage on i Gumal invoice/
: ' - ! ]
Purchases ¢ Tiansport Debit Note |
L Operators !
i | ,- . 2 . ‘
' (iii)  Pettr Cash Starioners . Peity Cash i Peity Cash
| Book § Voucher
: t
{ i
(iv)  Cash Book P Posha ! Bank g Cheque Stub
(v) Sales Journa B Banda Sales i Sales Invoice i
i
e A ; ; l .
(vi)  Cash Book Drawings Bank | Cheque Stub .
it H I
b , R . ] = ! 1
Co(viiy  Cash ook U Thandiwe i Bank | Bank |
| ! ‘. Statement |
I ' 1 i
. .: | |
{viii) Joumal Proper ) Jamela : Office ; Invoice &
. Equipment |
] - |
L (ix)  Retums Inwords Renims B. Banda | Credit Note !
| Journal Inwards
Juestion 3
Hints
v Remember the six errors which do not affect the balancing of the inal balance,
(1) If vou recognise the error as one of the six. remember that correction of such an error should
NOT pass through the suspenss account
(i) Errors which are corrected using the suspense account include:
~ Incomplete doubie entry, i.e an nem enlered on one side. ¢.g. debited but with no
corrasponding cradit entry,
- Completion of acuble entry using different fioures. 1.e. an amount on debi! side 15
different from the one on credit for the same transaction.
Incorrect additons or deductions. 1.2, overcasvundercast, g
-~ Where & balance 1s omined from the st extracied from the ledger (for this tvpe of an
error 1 correcion requires a one legged yournal entrv because the amount is already
there. reposting the amoum will double the amount and thuy creanng another error)
(v)  Hvounow go through the errors in this quesnion, it should now be easv to coirect them and
prepare a suspense acoount and a correcied tnal balance,
(Vi In our correcied trial balance vou must show vour workings for the items betng correctad



3 (a)

(b)

(c)

Question 4

Hints
®
(i)
1))

th

Journal Proper Dr Cr
$ $
M. Muleya 45
Suspense 45
Drawings 600
General expenses 600
Suspense 600
Bank 600
Purchase 400
Suspense 400
Suspense 360
Creditors -
' Suspense Account
$ $
Bank 600 Difference as per Trial Balance 515
Creditors 360 M. Muleya 45
Purchases 400
960 960

Corrected Trial Balance as at 30 June 2004

h] h

Capital 22 409
Drawings (15 200 + 600) 15 800
Debtors (16 500 + 45) 16 545
Bank (7 474 — 600) 6 874
Fixtures and Fittings 8400
Stock 11 730
Creditors (5 540 + 360) 5900
Sales 194 240
Purchases (151 600 + 400) 152 000
General expenses (11 800 — 600) 11 200

222 549 222 549

selling expense.

(@)

If the provision for bad debt account w

either increasing that figure or reducing it, i.e.

January 1
December 31 2004

Since there was $6 500 at the beginning of the year,

Provision for bad debts
Provision for bad debts

nonn

Do not waste time copying the whole sentence, only the missing word or words are required.
Numbering is very important and it should be done correctly. :
Remember that carriage inwards increases the value of purchases whereas carriage outwards 1s a

as created in the past then in the following years you are

$6 500
*/100 X $150 000
$7 800

you need another $1000 to make it $7 500.




4 (a) (i) Trading Account
(i)  Profit and Loss Account
b @ Current
(ii)  Fixed/ intangible / non-current

() Debit
) @ Assets (i)  Capital
(e) (i) $1 000 @iy  $142500
(1) $180 000
(g) 5 times

Question §

Hints

Pay attention to the following items which tend to confuse studerits:

(1) Trade discount should be deducted before recording figures in the accounts

(i)  Interest charged to a debtor increases the balance owed by a debtor, therefore debititin a

debtors account.

& Sales Ledger of B, Chikomo

A, Mutema Accounnt

2005 $
Mar 1 Balance b/d 15 000
3 Sales 16 000
4000
9 Interest charged 1 500
20 Sales 30 000
25 Sales 3 000
i
April 1 Balance b/d 14 200
Question 6

Hints

Take note of the following items:-

- 2005
Mar

15
18

22

28

31

Bank
Returns Inwards

Cash

Discount Allowed
Bank

Discount Allowed
Balance ¢/d

11 500
500
18 000
800

14 200

6] “Cash refunds from suppliers”™. These should be recorded on the credit side of the purchases

ledger contro! account.

(ii) Interes. charged to us by our creditors should be credited to the purchases ledger control

account.




7
i

Creditors Control Account

2004 i $ 2004 $

Nov 31 Cash & banik 33910 Nov' 'l Balance b/d 14100
+ | Discounts Received 2 205 30 Interest

Retumns Outwards 1130 payable "~ 8438
Balance ¢/d 13290 Purchases 34 200
Cash refund o 320
50 534 50 535
Dec 1 Balance b/d | 13 290

(b) (ii} Jjournal Proper
(ii) Cash book
(iv)y  Cash book
(v) Purchases Journal
(vi}  Retumns outwards Journal
(vii) Cash Book

Ouestion 7 (a)
Hints

) Calculation. of capital if given assets and liabilities is simply applying the accounting equation.

(i)  The question requires a statement, therefore an opening statement or a statement of affairs can
be done but NOT a mathematical calculation.

Ouestion 7 (b

5 ; i i F i § i £
(1} Since opening capital has been calculated on 7 (a), then it can be used to prepare a statement ol
affairs as at 31 December 2004,

(i)  Remember that funds from private resources of the owner invested imo the business are
additional capital.

7 (a) Statement of Affairs of M. Musa as at 1 January 2004
Assets: $ $
Motor vehicles 175 000
Fixture: 131 000
Debtors 82 500
Stock 43 840
Prepaid expenses 9 620 441 960
Less: Liabilities .
Creditors 64 000 !
Bank overdraft 18 900 82 900
Capital | 359 060




’

b

b)

8

M. Miussa Statement of Affairs as at 31 December 2004

Fixed Assete : {ast : Hﬁpr' NRBY
Motor vehicles 175 000 17 500 157 500
Fixtures 131 000 6 550 124 450
306 000 24 050 281 950
Current Assets - H '
Stock T 49 260
Debtors (FL‘?: 600 —- 5 600 92 000
Bank 16400
Prepaid expenses 2178
163 830
Less: Current liabilities
Creditors 36 700 107 130
. 389 080
Financed by:
Capital 359 060
Addincnal Capital 28 000 387 060
Add: Net Profit 17770 404 830
Less: Drawings 15 750

Owner’s Equity
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Secrion A
“nswer all questions in this section,

The follm\ ing Trial Balance was extracted from the books of G. Rashe, a retailer, on

At T

31 December 2004

Trial Balance as a1 31 December 2004

Debit Credit
$ $
Capital: 1 January 2004 340 000
Drawings 68 000 |
Stock: 1 January 2004 45 600
Petty cash 16 850
Bank overdrafl 29 200
Sundry debtors 76 000
Sundry crecitors 57 800
Moior vans. at cost 180 000
Fixtures and fittings. at cost 120 000
Purchiases 160 000
Provision for bad debts: 1 lanuary 2004 6 900
Saies 315 000
Returns 12 000 | 9 000
Sundry expenses 6 300 | 'i
Carriage inwards 17 700 '
Rent anc raies 22 160
Interest on overdrait 4 450
Discounts 9 700 § 100
Provisiorn for depreciation: ! January 2004
Motor vans 18 000
Fixtures and {itungs i 10 000
Salaries and w ages ,_:_.:_..Zﬂ'“ s
794000 1 794,000

The following maters are 1o be taken imo account:
(i) Stock at 31 December 2004 was vaiued at $48 900,

(ity  One-guarter of the sziaries and wages was for stafl employed in
re-packaging coods bought for resale.

(i) A cheque of $8 700 was paid to a creditor on 31 December 2004 but had
not been entered in the books at the ciose of business.

T 12005
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(iv)  Provision for bad debts is to be reduced to $6 000 and a provision for
discounts allowed of 5% of the net debtors is to be created,

(v)  Depreciate motor vans at 10% p.a. on cost and fixtures and fittings by $10 000.
(vi)  Rates paid in advance at 31 December 2004 amounted to $4 200,
You are required to prepare:

(a)  the Trading and Profit and Loss Accounts for the year ended
31 December 2004. ' [13]

(b)  the Balance Sheet as at 31 December 2004, [13]

THI2/1 12008
[Turn over



(a)

(b)

4

The following account appeared in the Ledger of N. Nkiwane.

T. Thodhlana

2004

January 1
15
19
23
29

$ 2004 \
Balance b/d | 2 720 |January 6 Bank
Sales 1156 Discount
Sales 1 366 18 Returns
Sales 34
Typewriter | 2 100

Answer the following questions relating to the above account.

() Explain what the balance on 1 January means.

(ii) Calculate the balance on 31 January,

(iif) ~ What name is given to the discount on January 67

(iv)  In which subsidiary book was the discount originally entered?

(v) For what reason would the discount be given?

2702
18
120

(vi)  The emry on 25 January relates to an undercharge on the goods sold
on 19 January. What document did N, Nkiwane send to 1. Thodhlana?

(vii)  State the full name for the returns on 18 January.

(viii} Name the subsidiary book used for the entry on January 29.

(ix)  In which ledger of N.Nkiwane is T. Thodlana’s Account founc:

(x) Where exactly in the Balance Sheet is the balance in T. Thodhlana’s

Account on | February found?
The following transactions relate to the business of D. Desert for the
month of December 2004,
2004 $
Decernber 1 Stock of unused fuel 36 000
10 Bought fue! by cheque 10 000
15 Bought fuel o credit form Wedzera Oil Company 14 000
20 Bought fuel for cash 8 000
29  Stock of unused fuel ! 22 000
Prepare and balance the Motor Fuel Accouni. Pay special atiention
to dates and deiail.

7112/1 J2008

[10]

(6]
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K. Kondo, a hairdresser, received her bank Statement on 1 May 2005 with
the following details:

$

Balance as on 30 April 2005 275 000
Bank charges 10 000
Standing order: Insurance 29500
Credit transfer: dividends 67 300
Dishonoured cheque R/D 13 700
Direct debit;: ZESA 18 450
Interest Earned 9550
The following information was also available:
$

The balance brought down in the cash book was 249 800
Unpresented cheques 65 000
Bank deposits entered in the cash book but not yet

credited on the bhank statement 70 000

On analysis of the bank statement, Kondo discovered that she

had been incorrectly credited with $25 000 belonging to R. Kondo,
by the bank.

You are required to prepare:

(a) an amended Cash Book. [8]

(b)  the Bank Reconciliation Statement as on | May 2005. (8]

THEZ/T 12008
{Turn ever
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The following information has been extracted from the books of Special Service
Lid for the month of September 2005:

$

(i) Total debtors balance at 1 September 440000
(ii) Cash sales {or the month 942 000
(iii)  Credit sales 800 000
(tv)  Cash received from debtors 350 000
(v) Discounts allowed to debtors 120 000
(vi)  Bad debts written off 70 000
(vii)  Doubtful debts provision 90 000
(viii) Cheques received from debtors 250 000
(ix)  Balances in sales ledger, off set against purchases ledger

accounts 8 500
(x) A debtor, who had been allowed a cash discount of $20 000,

had his cheque returned by the bank marked ‘refer to

drawer’ 100 000
(a)  Prepare a Sales Ledger Control Account for the month

of September. _ [6]
(b)  State the subsidiary books from which entries (i), (iii), (v), (vi),

(vii), (viii) and (X) are extracted. [7]
(¢) State any three purposss of preparing Control Accounts. [3]



th
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SECTION B
Answer any twe guestions from this section

3. Zimba, who owns Gwanda Grocery Shop, provided a qualified bookkeeper
with the toliowing details of his financial position:

2004 2005
December 31 December 31
$ $

Cash in hand 122 000 28 000
Cash at bank 260 000
Bank overdraft 152 000
Equipment at cost ' 1 100 0600 1100 000
Trade debiors 3714 000 278 000
Trade creditors 136 000 190 000
Stwock 210 000 256 000
Insurance prepaid 157 000 111 000
Accrued rent 245 000 101 000
The following information was availabie:
(1) During 2002, Zimba withdrew §100 000 in cash every month for

personal use and goods worth §30 000 every two months.

{ii} Depreciation on equipment iz at the rate of 20% per annum on the written
down vaiue.

(iii)  Lguipment was bought on: | January 2004.
You are required 10 prepare.
(a) a Statzment of Affaire as at 31 December 2004, (6]

(h) a Statement of Aflairs as at 31 December 2005 showing clearly the net
profit for the vear. (7]

[Tern over



R. Taona prepared the foliowing Tri lance on 31 March 2004:

| DEBIT | CREDIT
' $ | $

Delivery vehicles | 114000 |

Stock: 1April 2003 | 25150 |

Debrors | 33750

Banl L2100 |

Creditors | 27 320
Purchases i 151250

Sales 204 2350
Discount aliowed 4 570

Rates 14 000

Capital: 1 Apri! 200> 160 000
Drawings 30000

Sundry expenses : 1" 560 i

Suspense L 15250

7 Y, ine 0n
| Wm0 | 406820 |
Subseguentiv the foliowing errors were discovered and when the necessary

amendnents . 'ac, been made in the accounts, the Suspense Account balance
was sliminated

(i) The Saies day book had bezn undercast by $13 200.

@i A sale of goods 1o 7. Shrub for $1 240 had been posted 1o the wrong side

of T. Shruc's account.

(i) Discount allovod 10 & Gebtar. S, Forest, correctly enterzad in the Cash Book as

$680 had heer prsted to her account as $860.

(vi A rates paymen: of $2 710 had been debited twice in the Rates Account.

() A purchase of z delivery scooter for §40 000 had been entered in the
Purchases Account.

You are required 10

{a) draw up the Suspense Account
(b} rewrnie the Trial Balance as it would appear after the correction

of the errors.

te}  state any twe errors not revealed by a trial balance,

¢ L2EE TR0

-
n
o

{2
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H. Hasan owned 2 small Iactory.

Che following baiances were extracted from his
books on 31 December 2004,

L7

$
Stocks {1 January 2004

Raw materiais 50 000
Finished gooas 75 000
Work-in-progress 30 000
Purchases of raw materialc 505 000
Sales of finished goods 1 900 000
Factory direct wage 136 000
Factory overheads 260 000

Patent fzeg 70 000
Stocks (31 Dacember 2004);

Raw materials 40 000
Finished goods o0 000
Work-in-progress 20 000
Selling and administration 21 00C
Carriage outwards 19 000

You are required 10 prepare;
(2} the Manufaciuring Account fo- the vear ended 3! December 2004.

L

{b; the Trading anc Profit and Loss Account for the year ended 31 Decembar
2004,

TLEL/E 32008
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Question 1

Hints and Workings

(1) One-quarter of the salaries and
for resale increases the value of

Trading Account,

(11) Cheque paid to a creditor omitte
(iii) Remember that provisions for discounts
for bad debts from the debtors’ figure, i.e. $76 000 - $6 000 =

£70 000,

Therefore provisions for discounts allowed *foo X $70 000 = $3 500,
(iv)  Depreciation on 1motor vans
Depreciation on fixtures and fittings

19100 % $180 000 =
= $10 000,
(v) Rates and rent = $22 160 - $4 200 = $17 9690.

$18 000,

wages for staff employed in the re-packaging of goods bought
purchases, therefore should be added to purchases in the

d reduces the creditors’ balance and increases the overdraft,
allowed to debtors is done after deducting provisions

1 (a) G. Rashe: Trading and Profit and Loss Accounts for the Year ended 31 December

2004
$ $ 3
Qales : 315 000
less Returns Inwards 12000
Turnover 303 000
less Cost of Sales:
Opening Stock 45 600
add Purchases 160 000
add Carriage inwards 17 700
add Re-packaging wages 13810
191 510
less returns outwards 9000
net purchases 182 510
228110
less Closing stock __48 900
179210
Gross Profit 1237
add Discount received 8 100
Decrease in Provision for bad debts 900
132 790
less expenses
Rent and rates (22 160 - 4 200 17 960.
Interest on overdraft 4 450
Discount allowed 9700
Sundry expenses 6 300
Provision for discounts allowed 3 500
Salaries and wages 41 430
Depreciation on: Motor vans 18 000
Fixtures and fittings 10 000
111 340
Net Profit 21450
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(b G. Rashe : Balance Sheet a at 31 December 2004

|

Fixed Assets . Caest © Depreciation | N.B.Y I1
B $ ? $ |
Motor vans Cojgo00c | 36000 1 144 00¢ |
Fixtures and fitungs ! 120000 4 20 000 11 100 000 \
L aneou0 T s6000 | 244000 \
Current Assets ' 1 !
Stock | AR 900 | ‘l
Sundry debiors i | ‘
(76 000-6 D00- 3 500} L 66 500 '! \
Prepaid raies | | 4 20K '1 :
Fetty cash i 16830 | |
. | 136 450 L \
iess Current Liabilities _ l \ I|
Sundry creditors (37 800 - 8 7001 47 00 i
Bank oy ardraft (29 200 ¢ 700)__ 37900 i ' "'
: 15__‘_“*?__':_:_\{ 1) ﬁ'l
| z 49 450
1 | 28480

Financed by: .

Capital 340 00U i

Add Ne: Profit | 1

i '1 361 450
|

3

¢ Drawings '. 6% 000
| 073 45
| | §
Ouestion 2 (a)
Hints and Warkings
(1) Remember that ¢ebiors pormally carty gedtt malancas and (he 1ems cales is a clear guide that T.

Thodhlana 1s ¢ ¢ gblO7 § accoumn

§1) Wriung the whoie quesuon before w rng the answer will not eam vou marks, just write the
answars.

{(iiiy  Numbering ie very imporiant ihererore on such quesions you are encouraged 10 follow the
oraer of numbenng on {he question

Yuestion 2 ()

(i} Srudents shouid always rememoe! that the Mg 18as on for drawing up an experse account in the
Jedger 18 1O calculate the cotrett ;panse {or that item for 1hal firancial year to be transferred 10
the pruﬁt and loss account. Fatlure 10 dhyow the correct transier 10 profit and loss account s a
clear misimerpretation of the quasuch,
iy  Paving special attention 10 dates means showing the vear, (e month and the day when gach
iransaction 100k wwwc on both sides of the accoumt but in this account, the vear can be wrinen
once on botn sides.
Mator Fugl Acgon

_____,,_.,__..——-‘-—'*—...._.._--_.-....._.-—...__.-—__. s e e S——

SO0 200
Dec | Dwec 29

i

since all the LFaANSACtons TOR place i the samz vear and same month.
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Stastrs must show the amour o) Moy

oy we transferred o the pronit and Joss account.
rememunerng tha: the ciosing transtr 10 Lisil and 1058 account irc-u. an expense accouwrt 1s done
through the credit side and that for o gar » done througn the debit side.

s {a) (i T. Thodlana owes N XNkiwane $2 720

{ii) $4 330

(iff)  Discount ahiowed

(ivy  Cash buol

{v) Promm payment

{vi) oshn note/lnyvoice

ivity  Returns Inwerds'Salo: Ketams

(viii} Journal proper. "‘wuna‘l’ General Journal

(ix)  Sales Ledver Debiors

(%) Current gssety

b, Desert’s Ledger
- _MOTOR FULL ACCOUNT

200 5 20004 )

ecember | Balance bid 3000 Dec 31 Profit avd loss 46 000

Hints

Ths

(14

{111}

e Bank To Qe Stock of fuel ¢fd 22000

15 Weadzera Oii Compam e
AU Cask B B
68 00¢, 68 000

Stock of fuei b d bl €

{ a quesnorn appears revulariy on guesuon pepers.

Remember that wher undating the casn book. vou should start with the halance brought down in
the gash book of $249 BOG

Enter in the suppiemamar cask vool, tiese tiems winich appear in the bank statement and NQT
1 the cash book. e g bank ¢harpet fny o

Hems which appear m ine cashi hoow bt nt in 1!.; ';.mL sialement, ¢.g. uncleared deposits,
'1'-‘-'-!1'253{11% cheques are used 1 prepare a bark reconciliation statement,

nmsiake appearnng on the tan. stwemen. canot be correcied in the bank statement but such
an eITar 18 Correciaa v the bank rzconciliabion statement. A firm cannot change the figures
within a pank statement since 1t s a documen from the h-mh e g deposits wrongly credited. i.e
R Konde But & mistake in the casn ook ¢an be corrected either in the cash baok or in the bank
reconciliasion staiemeant

Remember that operations arz exremein unportant

far R konde’s: amended Cash Baok

2005 S oonos $
viay 1 Baance b 2 gne | May | Bank charges 10 000
Credn T Standing order:

Dividenas B 3 Insurance 2

ineres: eormad QARG D chegue 1
Direct Debii : ZESA 18

- ; Balance o/d 3

ransler
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(b)  Bank Reconciliation Statement as on 1 May 2005 $
Balance as per Bank Statement g 275 000
less error : R Kondo’s credit 25 000
Corrected balance (bank) 250 000
add deposits not yet credited by bank 70 000
320 006
less Unpresented cheques _65 000
Balance as per Cash Book 255 000
OR Balance as per cash book 255 000
add: Unpresented cheques 65 000
320 000
less: deposits not yet credited 70 000
250 000
add: error: R. Kondo’s credit _25 000
Balance as per bank statement 275 000
Question 4

Hints

(1) “Debtors at 12 September - $440 000” is the balance of debtors brought forward from previous
month.

(i)  Debtors buy goods or services on credit therefore cash sales of $942 000 were just given fo
confuse you; they are not part of the sales ledger control account. ;

(i)  Balance in sales ledger, off set against purchases ledger accounts are a set-off so they should be
credited in the sales ledger control account. - i

(iv) A debtor whose cheque was returned by the bank marked srefer to drawer” must be re-debited
with the value of the cheque $100 plus the discount once allowed to him of $20. These two
should be again debited to the sales ledger control account in order to have the correct balance
of debtors.

(v) A good knowledge of subsidiary books and their uses is required to answer part (b) of this
question, -

(vi)  Students should remember that control accounts do not correct errors nor do they prevent fraud,
BUT they locate errors and reduce fraud. '

4 (a) : Sales Ledger Control Account

2005 $ 2005 : $
Sept 1 |Balance b/d 440 000 Sept 30 | Cash 350 000
30 |Credit Sales 800 000 30 | Discounts allowed 120 000
30 (Bank-returned chq 100 000 Bad debts w/off 70 000
30 |Discount disallowed 20 000 © {Bank 250 000
Set off 8 500
s Balance ¢/d 561500
1360 000 1,360 000

Oct 1 |Balance b/d 561 500

(b)) (i) Cash Book
(iii)  Sales Day book/Sales Jou rnal
(v) Cash Book
(vi)  Journal Proper/General Journal/Journal
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(vi1)  Journal Proper/General Journal/Journal
(viii) Cash Book :
(x) Cash Book

(c) - to reduce fraud
- summarise debtors and creditors
- 1o help locate errors
- facilitate preparation of final accounts

Question §
Hints

(i) Statement of affairs as at 31 December 2004 will help you to calculate the capital at the
beginning, i.e. January 1, 2003,

(i)  The statement of affairs as at 31 December 2005 wil! help vou to deduce the net profit for the
year.

Waorkings

(i) Drawings are $1 500 000 ($ 1 200 000 + $300 000).
(i)  Depreciation on equipment is at the rate of 20% per annum on the reducing balance method.
Therefore by December 2004 — %7190 x $1 100 000 = $220 000,
December 2005 = /100 x ($1 100 000 - $220 000) = $176 000

th

(a) S. Zimba : Statement of Affairs at 31 December 2004

Cost Acc. Depr. | N.B.V.
FIXED ASSETS $ $ $
Equipment 1100000 | 220000 880 000
Current Assets
Stock 210 000
Trade debtors 314 000
Insurance prepaid 157 000
Bank 260 000
Cash 122 000
1 063 000
Less: Current Liabilities
Trade creditors 136 000
Accrued rent 225 000
361 000
702 000
1.582 000
Financed by:
Capital 11582 000
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(b) Statement of Affairs as at 31 December 2})05
Accumulated
Fixed Assets At Cost Depreciation| Net Book Value
5 $ $
Equipment 1100000 | 396000 704 000
Current Assets
Stock 256 000
Debtors 278 000
Insurance prepaid 111 000
Cash in hand 28 000
673 000
Less: Current Liabilities
Creditors 190 000
Rent accrued 101 000
Bank overdraft 152 000
443 000
230000
234 000
Financed by: -
Capital 1 582 000
less drawings
{1 200 000 + 300 000) 1.500 000
82 000
add Net profit 852 000
' 234 000
Question 6
Hints
This is one of the common questions in most past examination papers.
(1) Drawing up of journal entries to correct errors will be parf of your workings but no marks are
“awarded to those journal entries, 1.e.
DR CR
$ $
(1) Suspense 15200
Sales 15 200
(i)  T. Shrub 2 480
Suspense 2 480
(iii)  S. Forest - Debtor 180
Suspense 180
(iv)  Suspense 2710
Rates 2710
(v)  Delivery scooter 40 000 _
: Purchases 40 000




&

()  The above journal entries are a guide as to what should be debited and credited to the suspense
account and how some of the above accounts should be corrected when re-writing the trial
balance,

(iii)  Error number 5, is an error of principle therefore do not affect the agreement of the trial balance
but the delivery scooter account was undercast by $40 000 while the purchases account had an
overcast, $40 000. You simply transfer the $40 000 from Purchases Account to Delivery
Scooter Account,

6 (a) Suspense Account

2004 $ 2004 $
March 31 Sales 15200 | March 3] Balance 15250
Rates 2710 31 T. Shrub 2 480
S. Forest 180
17910 17910
(b)  R.Taona: Trial Balance as at 31 March 2004
DEBIT CREDIT
Y $
Delivery vehicles (114 000 + 40 000) 154 000
Stock at 1 April 2003 25150
Debtors (33 750 + 2 480 + 180) 36410
Creditors 27320
Bank 21 600
Purchases (151 250 - 40 000) 111 250
Sales (204 250 + 15 200) 219450
Discount allowed 4570
Rates (14 000 -2 710 11290
Capital 1 April 2003 ; 160 000
Drawings 30 000
Sundry expenses 12 500 R
(c) Errors of commission
Errors of Principle. compensating errors
Errors of original entry
Errors of omission
Complete reversal of entries

Question 7

Hints

() The main objective of a manufacturing account is to establish the cost of goods produced or cost

of finished goods in a given particular trading period. Therefore the total cost of all the
manufacturing components must be included in this account and added together. The’
manufacturing account is an equation made up of the follo wing components:»

= Raw materials, i.e. cost of raw material consumed in the production of goods PLUS
Direct Costs PLUS overhead expenses. i.¢. all the INDIRECT manufacturing expenses



(1)

i }

X

PLUS opening sicch of worke-in-progress MINUS ¢ leatng stock of work-in-progress
EQUALS total cosi of manufaciared goods

Note that work-in-progress, Le. adustinenis for the unc ompieted poods which have been
partiariy manuiaciured the assurnpuon is thar opamng siock of work-ni-progress will be
completed m the current vear that 1s why 1t st be added and the pardarly completed goods at
the end will be completed m the following vear that ts why it1s deducted.

Note that the paten: fees are o direct cost which ig a component cf the prime cost,
Carriage ourwards 1s 2 selling expense v dueh must be wchuded i the profit and Joss account.

(a) Manufacturine Accennt of H, Hassan for fle vear e enged 31 Deceraber 2004

& N
Openng Stock of raw materials A0 O
Add Purchases of iy maternals 305 006
353 000
Jegs Closing stock of raw matenais 40 006
Cost of raw matert ftlu consmmned 515 000
add  Direct we 150 000
Paten: fess 700060
Prime Cost T35 B00
add  Facton overheads 260 000
Q95 Q00
add  Work-in progress (1 Jan 2004} 30000
1423 60U
less Work-in progress (31 Decembar 2004) _20 000
Total Cost of Production ¢/d 1 908 000

(h) Trading Account of . Hassan for the year ended 31 December 2004

'f § '! 5
Sajes of finished goods ; Il 1 904 0600 '
Less Cost 01 sales f
Opening stock of finished U '=| 75 000 ll
Add Cost of Producnon P 1065000 ’,
080 001 |
jess Clesing siocl, of finished goods b Al uoG i
. ! ” % | 1020000 |
Gross Profii ciu 'i ’; 880 000 1
'. '; :
less  Lapenses | | !
Selling and administration i, 21 000 " ||
Carriage outwards i 315 006G L (40.000) |
Net pro:i '; L 840 000 |
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Section A

Answer all questions in this section.

(i) M. Khumalo owns a retail shop. The following trial balance was extracted from her
books on 31 December 2005,

Trial Balance as at 31 December 2005

Debit Credit
$ $

Capital 528 000
Drawings _ 100 000
Fixtures and fittings at cost ' 120 000
Delivery van at cost 300 000
Provision for depreciation:

Fixtores and fittings on 1 Jan 2005 12 000

Delivery Van 30 000
Purchases 850 000
Sales 1900 000
Stock at 1 January 2005 - 120 000
Advertising 60 000
Salaries and wages 230 000
Insurance 35000
Rent 65 000
Repairs _ 90 000
Commission earned 150 000
Premises 700 000
Bank 58 000
Provision for bad debts

1 January 2005 2 000
Debtors 30 000 -

Creditors 20 000
' 2700000 2700000

Additional information:
(ii) Stock at 31 December 2005 was valued at $185 000.

(ii) Goods worth $10 000 had been taken by Khumalo from the business for
private use at selling price. No record had been made in the books.

711271 N2008
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(ii)y  Depreciation is 23 ivliows:
e Fiyrures and Hrings 10% per annum vsing the reducing balance method.

e Delivery van |“u per annum using the swaight line method.

=

ending 31 March 2000,
V) Inierest on ovardrafl of $3 000 had not been recorded in the books.
(vi'  Provision ior bad dzbts decreased by 3500,
You are required 10 prepare:

(@} the Trading. Proilr snd Loss Account for the year endad

ot |

Jecember 2003,

3
—
o
e

{h) tne Balance Shee: asat 31 December 2005,

(a)  The foliowing accounts uppeared in the Ueperal Ledger of Kupfuma. who
owns a retail shop and subiets part of his premises

RENT RECEIVED ACCOUNT

2006 §
alance b/d 100 OGO

Cash 180 000

June 30 Balance ¢/d 200 000

2006 3
June 30 Proin and Luoss

Account SR80 GO0

&
i
—
—
2 g
2.8
A
-
~ 1
8
X

Juiv 1 Balunce bid 206 000
(1) What does the balunce of $100 00C reprasent”

(if) Give the transuction relating to the entry on 23 March 2006.

(i) What is the amoun® ¢f rent chargeabie to the enant for half vear ended
30 June 20067

(ivi  Where exactly ir the balance sheet does the balance of $200 000 appear?  [4]

T W08

i) The insurance figure of $3% 000 inciudes $15 300 covering a period of six months
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PACKING MATERLALS ACCOUNT

2006 N 2006 5

Jaguary 1 Bulunce bid 129 009 Jung 30 Trading Account 430 000
March 30 Grand Sepelics 240 000 jung 30 Balanes ¢/d 60 00
June 235 Bank I3L

1
|
|
| 490 000
{
|

July | Bualance bic

(i) Whar does the balance of $120 000 represent”

(i) Give the transacuon relating to the antry on March 36,
(i) What s the vaive o the packing materials used during the half year?
(tv)  Where exactly in the balance sheet does the halance of $60 000 appear? |4}

(b The Tollowing bulance appeared in the Sales Ledger of N, Neube
on i Marsh

2. Pasi SO60 000 Dy
Puring the monh o March. the Dllewing ransactions took piace;

Mareh 3 Recerved $900 000 casn from 1. Pasi in {ul] settlement
nfliis February account .

2
£
e

goods on credit o D. Pasi thr $750 000 less 10% trade

, Sem oz eredit now 10 D Pasi for unsatisiaciory goods worth
8§73 000 n2t

20 Received a chieque from D). Pasi of $600 000,
The cheque received from D). Pasi on 20 March was returned
ov the bank marked “Refer to drawer.”

m

iz A

1 are required e prepare the Ledger account of D. Pasi and balance it on
21 March 2006, (8]

Pay special attention to duves and details
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State the word(s) or figure(s) required to complete each of the sentences given below.
Do not copy the whole sentence.

(a) Asset accounts have (i) balances and accounts for hiabilities
have (ii) balances.

(b)  The rate of stock turnover is found by dividing cost of sales by

(c) A note is sent to a customer showing an allowance given by a
supplier for goods damaged in fransit.

(d)  The purchase of fixed assets is (i) expenditure and payments
for operating expenses are (ii) : expenditure,

(e) If closing stock is undervalued, net profit will be

(f) Debentures earn a fixed rate of (i) and preference shares earn a
fixed rate of (ii)

(2) Interest on capitals is a _ entry in the Profit and Loss
Appropriation Account.

(h)  Fixed assets are valued at $600 000, current assets are $200 000 and current
liabilities total $300 000, The purchase price of a business is $900 000.
Goodwil] is therefore § :

(i) Prime cost is the sum of (i) -and (ii)

G The production cost of goods completed is added to the (i)

stock of finished goods in the (ii) Account,
(k)  Two methods of depreciation are (i) method and the
(ii) ~_method.
(1) Expenses incurred by the business for which no payment has been made are -
called (i) anc appear in the balance sheet as current
(ii) - - [19]
7112/1 N2008
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B. Choto prepared the following trial balance as on 31 December 2005.

DEBIT CREDIT
$ $
Debtors 40 000
Creditors 20 000
Sales , 220000
Purchases 140 000
Stock 65 000
Sundry expenses 15 000
Cash at bank 22 000
Motor vehicles 60 000
Drawings 10 000
Fixtures and fittings 100 0060
Discount ailowed 5000
Discount received 3 000
Capital 241 000
4 00 484 000

The trial balance totals did not agree and a Suspense Account was opened for the
difference. Investigations later revealed the following errors:

()

(i)
(iii)

(iv)
v)

(vi)

The purchase of additional fixtures and fittings for $30 000 had been debited to
the Purchases Account.

The purchases day book had been undercast by $10 000.

Purchases of $19 800 from S. Moyo had been correctly entered in the
purchases journal but were posted to his account as $18 900.

An item of $5 100 had been debited twice in the Sundry Expenses Account.

The sale of goods to D. Nkomo $12 000 had been posted to the wrong side
of her account.

Discount received amounting to $500 was debited to the Discount Allowed
Account,

You are required to
(a) Show the journal entries necessary to correct the above errors. [7]

(b)  prepare the Suspence Account (7]

T112/1 N200§
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SECTION B
Ansyeer amy Wo guestions from this section

B.Siwela is o retailer The juliowing are hey business e anuactions for the mouth
of Tuly 20067,

(i Paid $100 000 by cheque o trade creditors,
;1;? ....:ln L! 1‘1[ o 41"-\ L‘xg: |v1ﬁ1 ol on .r'-r;\U_Y? l"‘ :'I -jU Ur}‘r}‘

di) Siwela withdrew $90 000 from the business hank geeount 1o pay for her
daug thigr's El';‘i'!(\i\"_ fosy,

(ivj  Siwela received @ ~cediz note for $150 000 in respect of goods she had returned 10
1.1] ..l“fn lt:a

(v Cuastomers owing 51

1 000 had their accounts written off as irrecoverable.

(i Stwel. brougit her private motor velele valued ar $1 200 000 into the business.
Cony the Toilowing formal for vour answer

Itern Number Cifeet On Capital L ffect on Working Capital

(vi)

N

Vou are reguired 1o siaie. Wnder e appropriate heading, e £ affect 0f each transaction

on Siwela's wagua. ang Ln Working capital, State your answer by writing increase,

decrease o no effect wider s ok heading. [12]

(by late the acCORRIng LGUativn. i1l
J1 T INZHGR
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I'sovani Manuiactusing Company provides you with the following information on 31

b el b | Lyt
March 2007,

Stocks 1 Aprii 2000: $
Raw materials 15 306
\‘»"n*imv'--*_\.;'-..g_":-cz-:\ 18 100

l‘ lqluli\-\w LO }
Raw matearials purciic
Heturns on raw maien:

e

300
000
7500
P sprecialion o 'ﬁl, 17 a0d machinen 6 100

Rovalties 10800

Carniages on purchass 9 GO0
\4anl.\u,slw‘m<' v, agss A6 000

A

&

L 1]

Faciory wages 10000
Repairs or plant and rmachinery 13200
Rent and rates 24 00U
Factory power 16 900
Administration expenses 22000
Patent fees 24

24 500

Selling expenses a0 80
Stocks. 31 March 2007,
}.\:\.\\ mararals 17 7040

Work-in-mopres. 0 806

17200

Fmizned go

AL R Ty P
Addinona! inlonmation
() Factors wages emounting w $6 800 were owing at the
-
, 4 o i ek 1
1) ™At AN rates e he sharesd 1107 - qhd G leg -,
4 i

” el “-V‘.'j"; 4y ik PR TR LY g vy :‘ T/ *
You are reguirad w prepare Tsovani's Manufaciuring Acco

I !\{slr\.u :_‘.!]'l

ARE
b

1 for the ves

zud of the vear.

r ended

[

14
i
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N. Ndou and D. Dube agreed to form a partnership on 1 May 2006. Their balance sheets
as individual retailers on 30 April 2006 were as follows:

N. Ndou Balance Sheet as at 30 April 2006.

$ $
Capital 750 000 Fixtures and fittings 400 000
Creditors 250 000 Furniture 260 000
Stock 90 000
Debtors 110 000
o Bank 140 000
1.000 006 1.000 000

D. Dube Balance Sheet as at 30 April 2006.

$- $
Capital 1 000 000 Buildings 800 000
Creditors 400 000 Motor vehicles 300 000
Stock 150 000
Debtors &0 000
Bank 70 000
1 400 000 1400 000

Ndou and Dube agreed to come together on the following terms:

(i) Ndou’s furniture was revalued at $240 000 and Dube’s buiidings at $950 000.
(i) An amount of $10 000 was to be written off Ndou’s debtors.

(iii)  All other assets and liabilities were to be taken over at their bz.ilance sheet values.
(iv)  Dube will not bring his motor vehicles to the new business.

(v)  Ndou will bring in additional $150 000 cash as part of his capital.

You are required to:

(a)  Calculate each partner's capital on 1 May 2006. [6)

(b) Prepare the partnership Balance Sheet as at 1 May 2006, 7

L4

7112/1 N2008
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Question 1 (a)

M. Khumalo: Trading, Profit and Loss Account for the year ended 31 December 2005,

Opening Stock 120 000 Sales 1 900 000
Purchases 850 000 Add: Drawings 10 000
970 000
less Closing stock 185 000
Cost of goods sold 785 000
Gross profit ¢/d 1125 000
. 1910 000 1910000
Adve_rtlsmg 60 000 Gross profit b/d 1125 000
Salaries and wages 230 000 Decrease in provision 500
Rent 65 000 Commission earned 150 000
Repairs 90 000
Insurance (35 000-7 500) 27 500
Interest on overdraft 5 000
Depreciation: ,
Delivery van 30 000
Fixtures and fittings 10 800
Net Profit ¢/d 757 200
L1275 560 1275 500
1(b)
M. Khumalo: Balance Sheet as at 31 December 2005
Fixed Agsets At cost Less Net book
depreciation value
. S B § b b
Premises 700 000 - - _ ' 700 000 Capital 528 000
Fixtures & fittings 120 000 22 800 97 200 Add net profit 757 200
Delivery van 300000 60000 240 000 i 1285 200
420000 57 800 1 037 200 Less drawings: _ 110000
(100 000 + 10 000)
1175200
Current Assets Current
Liabilities i
Stock 185 000 Creditors 20 000
Debtors (30 000 — 1 500) 28 500 Bank Overdraft 63 000 83 000
Prepayments — Insurance _ 7500 221 000 (58 000 + 5 000)
1258 200 1258 200
Question 2 (a)

Ledger accounts questions are intended to test your mastery of the double entry system, This pa_rticu]a:
question is testing your knowledge on expenses and income, i.e. 2(a), and 2 (b) your understanding of
personal accounts.

(i) Rent received account is income and had a prepayment in the previous period which must be
reflected as a credit balance at the beginning of the new period.

(ii)  Note that the closing transfer to profit and loss account is done through the debit side.



(iii)  Rent received during the year is posted from the debit side of the cash or bank account to the
credit side of rent received account.

(iv)  Packing materials account is an expenéa and if it had a prepayment in the previous period it
must be reflected as a debit balance at the beginning of the new period.

w) Closing transfer to profit and loss account is done through the credit side.

(vi)  If some more packing materials were bought whether on credit or by cash or bank, they should
be debited to the packing materials account.

(b) (i) NB: A sales ledger is that section of the ledger where individual debtors” accounts are
opened, hence D. Pasi is debior.

2 (b)

(i)  1fD. Pasi receives some more goods, his account should be debited but if he pays then
his account should be credited.

(iii) Remember that trade discount should not be recorded; therefore if it is given it must be deducted
from the invoiced figure. '

(iv)  The double entry for a dishono ured cheque is to debit the debtor so as to replace the debt once
cancelled and credit the bank account so as to cancel the cheque once deposited.

2 (a) Rent Received Account

(i) 2006 January 1 Rent received in advance
(i)  March 25 Rent received from tenant in cash
(i)  $480 000

(iv)  Current assets

Packing Materi_als Accounts

(i) Stock of packing materials/unused packing materials.

(i)  March 30; Packing materials bought on credit from Grand Supplies
$240 000,

(i)  $430 000

(iv)  Current assets

(b) D. Pasi’s Account
2006 $ 2006 $
March 1 Balance b/d 960 000 Mar 3 Cash 900 000
5 Sales 675 000 3 Discount allowed 60 000
31 Bank: Dishonoured cheque 600 000 | 7 Returns inwards 75 000
20 Bank 600 000
b 31 Balance ¢/d 600 000
, 2235000 2235000
April 1 Balance b/d 600 000




Ouestion 3

(1} D_o not waste time copying the whole sentence. onlv the mis sing word or words are required.
(19 Numbering is very important and it should be done correctly. _
(11}  Remember that rate of stock turn is equal to cost of sales over average stock, thus
Cost of Sales
Average Stock
(iv)  If closing stock is undervalued. cost of sales will be overvalued and this decreases gross-profit
and automatically net profit will be undervalued or reduced.
{v) Debentures earn interest and shares whether ordinary or preference earn dividends. The
preference shares earn a fixed rate of dividends.
Werkings

Goodwill is equal to business purchase price minus net assets taken over,

3

$
Fixed assets &= 600 000
Current assets = 200 000
800 000
_Less; Current liabilities - 300 000
Net assets taken over 500 000
.Business Purchase price = 900 000
Less: Net asseis taken over = 500 000
Therefore Goodwill = 400 000

(@) ()  -debit
(i)  Credit

(b)  Average siock
(¢} credit

(d) (i capital
(i) revenue 1

(¢} undercast/undervalued/reduced/decreased

(f) {i) interest
(if) dividend

(g) debit

() $400 000

(i) (i) direct materials (cosi of raw materials consumed)
(ii)  direct labour/wages or direct expenses

(B (@  opening

(i)  Trading Account
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(k) ) straight line method/Fixed Instalment method
(i)  Reducing/diminishing balance method
(iii)  Revaluafion method

M (i) accruals/expenses owing/due
(i)  current liabilities

Question 4
) Remember the six errors which do not affect the balancing of the trial balance as these should
not be corrected through the suspense account.
(i)  Errors which upset the trial balance should be corrected through the suspense account. Errors
such as: -
~ Incomplete doubie entry,
- Completion of doubie entry with different figures,
—  Arithmetical/mathematical errors and
. Omission of a balance from the ledger 1o the wrial balance, are the ones which affect the nal
balance, therefore also affect the suspense account.
(i) If after the extraction of a trial balance the totals disagree, the smalier side requires a suspense
account 1o be opened with that difference, in this case a suspense account with a debit of
$77 004 should be opened since deblts are smaller than credit balances by $27 000.
(ivy  If the errors have been corrected correctly through the journal then afver posting to the suspense
account, the suspense accouni should be closed.
4 (a) Journal Enwies
DR CR
(i} Fixtures 30 000
Purchases 30 000
(i)  Purchases 10 000
Suspense 10 000
(1} Suspense 000
¢ Movo Q00
(v}  Suspense 5100
Sundry expenses 51060
(v} D. Nkomo 24 000
Suspense 24 000
{vi)  Suspense 1000
Discount aliowed 500
Discount received 500
() Spspernse Account
5 | §
Trial balance difference 27 000 \ Purchases 10 000
S.Movo 900 | D. Nkomo 24 000
Sundry expenses 5100 '
Discount allowed 500 [
Discouni received 500 |

34 000 24 000



Question &

Hint

b ——

W

Questions on working capal are verv popular with examiners. Remember that working capital is equal
to current assets minus current hiabiliies 1t follows that if one side of the equanon increases whilst the
other remains constant then working capital 1= affected, e g

(1) If current assets increase and currant liabilines remain constant then werking capital will
increase BUT if current habilities increase and current assets remain constant then working
capnal will decrease

(1) If both current assets and current liabilines increase with the same arnount, then there will be no

effect. the same applies if thev both decrease with the same amount. To establish this, look at
the following:-

Currentasse's  ~  Current liabilipes = Working Capital
ks ) $
2 000 1 000 1 000

Increase 2 500 1500 1 000

Decrease 1

300 500 1 000

(i) When figuring out the effects of transactions on working capital treat the transactions given
indtvidually.

{tv)  Capnal is the owner’s investnent into a firm which is normally affected by the owner's
drawings: additional invesiments and the stems which affect the Gross Profit and Net Profit, e.¢

- 1fthe owner puts some additcnal capital, capital will increase.

-~ If the owner drew from the business in form of cash or goods. capital will decrease.

~ If customers’ accounts are written off as bad debts. capital wall decrease, because Net Profit
will have decreased

Now read through the transactions and establish the two accoums involved: establish whether each of
the two can be classified as a current ass2t or a current liability

-~ If 1t is a current ass2t or Liability then work out the effect whether 11 is an wncrease or a
decrease, e.g. (1) Paid §100 000 by cheque w trade creditors: creditors are a current hability,
therefore habilines are reduced by $1060 GO0 and the Bank is also reduced by $100 000
which 15 a current asset. tharefore there will be NO EFFECT on working capital,

e S

3 (a)  Item Number Effect on Capital Effect on Working Capital |
(1) No effect No effect
(i1} No effect Decrease
(1) Decrease Decrease
(1v) Increase/No effect Increase/No effect
(V) Decrzase Decraase
(Vi) Increase No effect

(b) Assets = Capital — Liabihities
or Capital = Assets - Liabilities
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Cuestion 6
Hinw
Questions o Menufacuring accouris are Very commeon in ¢ Laminanon capers. Remember that the

mat ongﬂcu- ¢ of ama "'“'.at,h.lrlr,i, Aceount s 1o estabiish the totat cost of manulfactured goods. Thig
ol cost of manufaciured veods 18 made up of 3 componants, 1.

Cost of raw materia’s consumed ~ Direct Costs - Factory overneads

(i} Where expenses are o batween tne factory and e office then the share for the factory

is for the menufactunng seaount and the share for the cxf‘f’i:c s for the profit and loss account.

(1} in srder 1o eaen gl the marks. your manutaciuning accowi should shiow clearlv the cost ol raw
material 5 _consumad. prims and *lhv secron for the overhoad expenses BUT as a CONNUOUS
of manulasuied poogs,

<::_\_-cu O 1 Qrrive a.i"ne Jnany

= Cost of raw materiale conswmed . 54 904
Rovaitjes | L 10 800
Patent fees 24 300
Manuracturng wWagds 26000

*Prime Cost | L 120 200
Eaciony Overheads : '
Depraciation on plant machinery ' ! 610G
Repawrs on pian. and machinery

¢ Tsovani's Manufacturing Accounni for the yvear ended 31 March 20067
! 5 | $
Opening stock of raw matenas 1| i 15500
add:  Purchases of raw maerials I 1) S I
jges’  Returns on raw maienials | 'f %"}0 i
| i
| s |
adg,  Carriage on raw matenals | |
1 A1l
I 6lJ ]
jese  Closing stock of matenials '] 2_2_(1&__
1
|

{3 200

Factory rent ant [aids : : L& 000

Factory pow ar i 16900

Factory wages (111 1N = 6 800 ! | 15800

Poo1GT 200

agd.  opemng stozk of work-in-progress 5 b 18100

. | D1 300

lese:  Closing stock of work-in-progress ! 1, 20 800
g ] H

“Total cost of p!'ﬂﬁu{‘lli}n '| 194 500
]



Ouestion 7

Hinte

Thig question is tesung the candidates” knowledge on Pannerships, In this case two separate sole
traders have decided 1o come together o form one business called a parmership. Take note of the
following -

-~ Some of their assets have been re-vajued, 1.¢ Ndou's furniture and Dube’s buildings.
~  Ndou's debiors have been reduced bs bad debis wntten off.
- Dube will not bring his motor vehicies into the partnership,
- Ndou 1o bring some addiuonal $150 000 cash as nis capital,

11 foliows that the capitals they are 10 bring o the new busiess will be ditferent from their original
capitals beiore these changes.

STEPS TO BE TAKEN

(1) Calculate each partner’s capital using the assets and babilines taken info the new firm. taking
new figures for those revalued.

(iiy  Prepare the Pannershup’s Balance Sheel. showing clearly each parner’s capital but as for the
other assets and liabilitivs. they should be now combined, e.g. Creditors in the opening Balance

Sheet will be ($230 000 = $400 000) = §631 000,

(a) Ndou: Statemnent of Affairs as ar 1 Mav 2006

Fixed Assets/Non-current Assets R $

Fixtures and fitungs 4900 000

Furniture 240 000
640 000

Current Assers

Stock 90 GO0

Deabors F00 000

Bank . 140 000

Cash 150 060

480 000
1.120.000
Cguity and Liabilities
Capital 870 000

Current Liabilities
Creditors 250 000

$
OR. Assets: Fixtures and Fittings 400 000
Furmture 240 000
Stock G0 000
Debors 100 000
Bank 140 QGO
Cash 156 000
i 120000
iess: Liabilittes :  Creduors 250 000

herefore  Capital 870 000
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DUBE: Statement of Affairs as at ! May 2006

Non curreni Assets (Fixed Assets) : $ $
Buildings 930 000
Current Agsets
Stock 150 000
Debtors 80 000
Bank ..1G.000
300 000
1,230,000
Equity and Ligbilities
Capital 850 000
Current Liabilities ~ Creditors 400 000
1250 000
(b)  Balance Sheet as at ! May 2006
Non — Current (Fixed Assets) $ $
Butldings 950 000
Fixtures and fittings 490 000
Furniture 240 000

1 590 000
Current Assets

Stock (90 000 + 150000) 240000
Debiors (100 000 + 80 0G0} 180G 000
Bank (140 000 ~ 70 000) 210 000

Cash 150000
_180 000
. 2 370 000
Eguity and Ligpilities
Capital . Ndou 870 000
Dube R0 Q0

Current Liabilities
Creditors (250 000 ~ 400 0H0) 650 000
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Section A

Answer all questions in this section.

S. Kawondera runs a retail shop with two departments, the Furniture and Clothing. The
following trial balance was extracted from his books on 31 December 2006:

Trial Balance as at 31 December 2006.

Debit Credit
$ $
Purchases:  Furniture 80 000
Clothing 132 000
Sales: Furniture ' 350 000
Clothing 410 000
Stock at 1 January 2006: Furniture 15 600
Clothing 33 100
Carriage inwards on furniture 1300
Returns inwards : Clothing 3 000
Discounts — allowed and received 700
1 850
Insurance 1 500
Bad debts 420
Carriage on sales 1 600
Debtors and creditors 6 000 2 000
Bank : 1 800
Fixtures and fittings, at cost 400 000
Provision for depreciation on fixtures and
fittings, 1 January 2006 50 000
Land and buildings 800 000
Drawings 2 700
Capital : 662 270
1477 920

The following information is to be taken into account:

1477920

1. Stocks at 31 December 2006: Furniture $20 000.
Clothing  $35 000,

2 Bank charges amounting to $100 wete not recorded in the books.
. A provision for bad debts of 5% on debtors is to be created.
4. insurance paid cover 15 months to 31 March 2007,

T112/1 J2009
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ixtures and fittings ars to be depreciated ar 10% per annum using the diminishing
balance method. There is no depreciation on land and buildings.

You are required to prepare:

(a)

(b)

()
(@)

(b)

the departmental Trading Account, in columnar form, for the year ended

51 December 2006. [8]
the combined Profit and Loss Account for the year ended 31 December

2006. {7
the Balance Sheet as at 3] Decamber 2006. [12]

The following balances appeared in the books of Shining Tower Club
on 1 January 2607:

8
Subscriptions owing 180 000
Subscriptions prepaid 45 000
Stock of stationery 35 000
During the vear, the tollowing ransactions took place:

$
Stationery bought for cash 95 000
Subscriptions received 848 000

Purchase of stationery on credit from Rusere Booksellers 122 000

On 3! December 2007, the following balances remained;
=

Stock of stationery 25000
Subscriptions owing 65 000
Subscriptions prepaid 75 000

You are required to prepare the Stationery Account and the Subscriptions
Account, showing clearly.in each account, the amount to be transferred 1o the
Income and Expenditure Account, [1]

Pay special attention to dates and details.

Give the information represented by each of the following balances after
the preparation of final accounta.

(i) A debit balance in Motor Vehicles Accoun:.
(ii) A credit balance in Salaries Account.
(if) A debit balance in Subscriptions Account.

TV 12009
Turn over
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(iv) A credit balance in the Bank Account.
(v) A credit balance 1n Interest Received Account.
(vi) A debit balance in the Stationery Account.

(6]

Volanda and Nyanda are in partnership. sharing profits and losses in the ratio 3: 2.

Ralance Sheet at 30 June 2004

S $
Capital: Yolanda OO ! Fixtres 23300
Nyanda 20 000 Stock 21500
Debtors 15110
Trade creditors 11 204 Bank 1380

The partnership agrees 10 admit Ellen on 30 June 2004, Goodwill is vatued at $10 000.
Ellen is required to brinz in capital equal to that of Nyanda after Nyanda has been
credited with his share of Goodwill. Elien brought in fixtures worth $10 000 and

cash to make her capital equal o that of Nyanda.

Goodwill is to be maintained 1o the bBOOKs,
You are required to:

(a) Show Journal entries for the agmission of Ellen. [8]

(b) Prepare the opening Balance Sheet for the new business as at 1 July 2004. [6]

T2 33009
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For each of the following transactions of J. Johns’ business given below, name
the source document, subsidiary book, the account to be debited and the account

to be credited.

An example has been done for you.

Example:

Purchased a delivery van on credit from T. Munda for $2 900 000.

Source
Document

Subsidiary book

Account debited

Account credited

Invoice
(1)
(ii)

etc

Journal Proper

Delivery Van

T. Munda

(i) J. Johns paid $506 000 for his rent using business petty cash.

(i)  Sold goods on credit to Khumalo for $800 000 less 10% trade discount,

(i)  Purchased a table and a chair for office use., on credit from Zim Furnishers
for $1 500 000.

(iv)  Khumalo returned damaged goods worth $100 000 net.

(v) Received a document from Zim Furnishers for an undercharge of $200 000.

(vi)  Bought goods on credit from Rufaro Wholesalers for $1 400 000,

(vif) Received cash of $600 000 from Khumalo.

(viif) J. Johns allowed Khumalo a discount of $20 000,

711201 J200¢€
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SECTION B
Answer any two questions from this section

The following schedule of debtors appeared in the books of Cherly Florist on
31 December for three years.

2006 2007 2008
$90 000 $110 000 $85 000
Cherly maintained a provision for bad debts of 5% of sundry debtors.

On 31 December 2008, Cherly created a provision for discounts allowable of
4% on debtors.

You are required to prepare:

(a) the Provision for Bad Debts Accounts for 2006, 2007 and 2008.

(b)  the Provision for Discounts Allowable Account on 3] December 2008,
(c) the Balance Sheet extract as at 31 December 2008.

Kubatana Limited has an awthorised share capital of $1 200 000, divided into
800 000 $1 ordinary shares and 400 000 5% preference shares of §1 each. The
issued and fully paid share capital is made up of 600 000 ordinary shares of §1

cach and 400 000 5% preference shares of §1 each.

The following information is available on 31 December 2006.

Profit and loss account halance,

1 January 2006 66 000
Net profit for the year ended 31 December 2006, 304 000
General Reserve 100 000
10% Debentures 210 000

On 31 December 2006, the directors proposed to:

(i pay the preference share dividend.

(i)  pay an ordinary share dividend of 10 cents per share.
(11)  transfer $40 000 to general reserve.

TI2/0 12009
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You are required to prepare:

(a)  the Profit and Loss Appropriation Account for the vear ended 31 December

2006. [6]

(b)  the Balance Sheet extract showing the capital structure as at 31 December
2006. (7
R

State the word(s) required to complete each of the sentences given below.
Do not copy the whole sentence.

(@) Nominal accounts are those that refer to (i) and
(ii)
(b)  Accounts of debtors are found in the ledger.
(c) The is the source document for the petty cash book.

(d)  If the payment for repairs to machinery 1s debited to machinerv account,
this is an error of

(¢)  The excess of expenditure over income for a club is known as a ]

) Errors that prevent the totals of a trial balance from agreeing are corrected
through the account.

(@  Working capital is the excess of (i} current over
(i)

() Entries on the sale of a fixed asset are passed through the
account.

(i) If closing stock is overvalued, net profit will be

() Subscriptions received in arrears appear as ' in the

Balance Sheet.

(k)  Cost of raw materials consumed added to direct expenses are called

costs,

—
P
LS ]
1t
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Question 1

Hints

This tvpe of a question aims al 12sung Your skills 1 the preparation of departmental accounts.
Notice that the departmental trading accounts for furmture and clothing department should be
prepared in columnar form. The rrain oblective of departmental trading account is to ascertain the
gross profit or Joss for each departnent. Thereafter. & single or a combined profit and loss account
1s prepared 1o come up with the net profit or loss for the business as a whole.

NB: If departmental profit and loss accounts arc prepared then one jooses all the marks for that
secuion according to this queston.

Departmental Trading Accounts

The following points should be noted: -
(1) Carriage inwards - $1 300 should be added to the purchases figure of the furniture
department, 1.e. - $80 000.

() Returns inwards of $3 000 should be deducted from the sales figure of the clothing
department- $410 000,

Combined Profit And Loss Account:

(1) Bank charges equal o $100 should be aebited in profit and loss account,
(11) Provision for bad debts created will e

b A

R TV TR Wy $300.

(i)  Insurance pard covers 15 moaths. tharefore isurance for 12 months 18 equal 1o

15, L o1n - - rixs s
®rsx 12 = §1.20€. Debu profit and ioss account with tins amount,
$300 15 2 pre-payment,

(v Depreciation on fixtures and Huings.
10% x (400 00U - 50 000) = $35 000

(V) Note that carriage or. sales $1 600, 1s a selling expense.

Balance Sheet

(1} Oniv one halance sheet for the business s prepared.

(i) Closing stock figures for furmiture and clothing should be shown separately, i.e. they should
be itemised: —

Furniture i $20 (00
Clothing = R3S 00t
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|

ta) S jeawonders: Deparimental Trading Account for tie vear ended
31 December 2006,

| | i
b Furniture l Clothine | Furnuure [ Clolhmg'
| 3 |8 N K
Sales | "; | 350000 | 410000
Less: Rerurns mwards ! L. \ 3 000
l | 350000 | 407 000
Less: Costof goods soid ; 'g i
Opening stock 13 600 i 33100 I 1
Add.  Purchases PR 000 t 132000 | |
Carriage inwards | 1300 ! . i '.
Y 06 90 L 165 100 [ i
Less, Closing stock V20000 33000 ', i
Cost of goods sold { '| L 76 900 l ) 100
Gross profit | - | 273100 g;g 900

(bj  S.kawondera: Profit and 1 oss Account for the vear ended 31 December 2006.

$ $

Gross Profits (8275 100 + 2276 900 550 000

Add  Discount recer 2 1 850 551 850
fase:  Expenses

Bank charges 100

Discount ailov.'c? TO0

Insurance (1 500 - 300 1 200

Bad debis 420

Depreciation: Fixtures and fittings 35 000

Carriage on sales 1 600

Provision forbad dgebie e 200

Total expenses 397320
Net proin 512 530

(c) S. awondera: Balance Sheel as at 31 December 2006

Fixed Assets | Cest | Dep NBV
8 l$ $

Fixtures and fiings P 400 000 '5 £5 00C 315 000

Land and butldings | gunuoh - 00 000
| 1200000185000 1 115 000

Current Assels i
Siociks: Fumiture ,
Clothing |
Debtors ($6 004 -~ 3005
Insurance prepaid

b al OG0
Less: Current Liabibites

Bank. overdrafi (1 804 - 10 f 1 900

l
i
|
1
i
"s
|
|
|
1
|
‘.
1
|

Creditors P 2.000 L3900

W orking capital ". TR Sl
§ 1 e
i i | l_l.'
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Questign 2

Hine

(1}

o

fitis siill therea,

3 2 onot used. therefore
suld de ransler “*v'ci (o the Income and E\;pendimre:
03al gar. Sck ol stationens 18 tnon refizcied as & debi
ORI and aise shovwn av & owrrent asset in the Balance Sheet,

Sutienery
stationars
account at the

balance i the starionary ¢

Subseripuons are memds w ine ¢lus  Suos
s'na\‘ T 88 an opening debn halance in the currat vear s subsenplions Account, BUT
subss SIpLONS Prey 230 ihe previcws Vedar 1or ine aurrent vear must be shown as an opening

At e P Emeyt LT o § e -~ 4
Sradil BAANCe N the CUM2RNL VIAT » JUDKCTIPUONS acoount

puons owiang irom the previous vear must be

There 1 nesd 1o 111='z.'h~: a4 CIosinD transfer

subscrplions 1o he received

the Income and Expenditure Account for the

LLin@ Bl

raccounts. pay special atienion 1o dates and narratives as these carry marks.

NG Remembar thar 1o ~Su 7\5..;’"‘!'....1 Oranizaucens. evpenses and incomes are
rranstarred 10 the Income and Eapendnure Account at vear end NOT Profit and Loss
Agcount
[ i1}
Stavenery Account
2007 b 2007 5
jan gt SRt Y Dec 31 Income & Exvendiiure 227 000
Dee Account
Bookselie HBalance ¢rd enne QHO
252 000
2008
Jan 1 Balonee bid o U
(i) Subsoriptions Accounr
2007 “ L 0T 5 E
Jan 1 Owing bd L ARET Ly { Prepaid bid 43000 |
Dec 21 Income and Dyae 21 Bank/Cash 348 W‘:{: !
Ex I'*"Lflur“ TR . e ¢ ‘
]J i <r|’_"_ g »‘: i S I
005 LR '
|
|

Jan 1 owng bod 68 {0 Jar 1 prepaid yd 75 000
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(b) (i) Motor vehicles at cost
(ii)  Salaries not vet paid/due/outstanding
(iii)  Subscriptions due/owing/outsianding
(iv)  Bank overdrafi
(v) Interest received in advance/interest receivable prepaid
(vi)  Stock of stationerv/unused stationery/prepaid stationery

Question 3

Hints

(1)

Goodwill of $10 000 is introduced and is 10 be maintained in the business books as an assel.

(i1) Yolanda should get */s and Nvanda %/« of $10 000. i.e. of goodwill. therefore Nyanda's
capital will be $20 000 + (/s x $10 000) = $24 000,
(1) Ellen to bring into the business as part of her capital contribution, an amount equal to that of
Nvanda afier Nyanda has been credited with his share of Goodwill,
(1v)  Ellen’s amount of capital is contributed as follows:
Fixtures worth = $10 000
Cash amountingto = $14 000
Total capital = $24 000
(v) Yolanda's capital becomes $30 000 + (*/s of $10 000) = $36 000,
(vi)  The opening balance sheet should now involve 3 partners; Yolanda. Nvanda and Ellen.
(vi))  Journal entry for goodwill shows Yolanda and Nvanda sharing goodwill in the ratio of 3:2.
3 (a) (i) Debit Credit
$ h)
Goodwill 10 000
Capital: Yolanda £ > 10000 6 000
Nvanda £ > 10 000 4 000
(if) Fixtures 10 Q00
Bank 14 000
Capital: Ellen 24 000
(b) Balance Sheet as at 1 July 2004
$ b
Capitals: Yolanda 36 000 Goodwill 10 000
Nvanda 24 000 Fixtures 33 300
Elien 24 000 Stock 21 500
Debtors 15110
Trade Credilors 11290 Bank 15 380
25290 25 290
Question 4
Hints
(i) Do not copy the exampie. vou will not earn marks from it. it’s just a gulide. ‘ -
(1) Remember that subsidiary books are not accounts. e.g. for a purchases journal. it should be
purchases journal not just purchases. _
(iif)  Pavment for John's rent out of petty cash is drawings.



(1v)  Goods bought or sold on credit are accompanied bv an invoice, therefore the source
documents for purchases or sales will be purchases invoice and sales invoice respectively.
4 Source Subsidiary [ Account Account
Document Book Debited Credited
(i) Voucher Petty Cash Book Drawings Petty Cash
(i) | Invoice Sales Journal Khumalo Sales
(iii); Invoice Journal proper Furniture Zim Furnishers
(_iv]| Credit Nole Returns Inwards Returns Inwards Khumalo
Journal
(v) Debit Nole Journal Proper Furniure Zim Furnishers
|
(vi)| Invoice Purchases Journal | Purchases Rufaro
Wholesalers
(vil) Receipt | Cash Book Cash Khumalo
(viii) Receipt Cash Book Discount allowed | Khumalo
's
Question §
Hints
(1) The provision for bad debis account is for 3 years ending 31 December 2006, 2007, and
2008. '

(i)  The provision for discounts allowed account is for 1 vear ending 31 December 2008,
(iii)  The provision for discounts allowed is provided on debtors after deducting the provisions
for doubtful debus. L.e. -

(iv)  Debtors less Provisions for Doubtiul debis = $85 000 - Clioo x $85 000) = $80 750
Therefore Provision s for discounts allowed will be Vi x 80750 = $3 230
5 (a) Provision for Bad Debts A ccount
2006 $ | 2006 $
Dec 31 Balance ¢/d 4 500 Dec 31 Profit and Loss A/C - 4 500
4 500 4500
2007 2007
Dec 31 Balance ¢/d 3500 Jan 1 Balance b/d 4 500
- Dec 31 Profit & Loss A/C 1000
£.500 £500
2008 2008
Dec 31 Profit & Loss A/C I 250 Jan | Balance b/d 5500
31 Balance c/d 4 250 %
S500 £ 500
| 2000
' Jan 1 Balance b/d 4 250

6




(b)

(¢)

Question 6

7

Provision for Discounts Allowable Account

2008 2008

Dec 31 Profit & Loss A/C
2009

Jan1 Balance b/d

Dec 31 Balance ¢/d 3230

Balance Sheet extract as at 31 December 2008

Sundry Debtors
Less: Provision for bad debts
Net debtors

Less Provision for discounts allowable

Hints and Workings

$
85 000
4250
80 750
~3230

3230

77 520

The O-Level syllabus requires students to develop knowledge and understanding of company

accounts. Some elementary knowledge of the appropriation account and the balance sheet extract
showing the capital structure.

(1) The preference issued share capital is $400 000 and 59 of this is the appropriate total
dividend.
(i)  The ordinary share dividend is 10 cents per share of the paid-up ordinary share capital.
(iii)  There is a balance of retained profit from the previous year of $66 000; this must be
included in the appropriation account to determine the unapproptiated profits to be carried
forward.
(iv)  Total capital funds will include the shareholders funds and the long-term liabilities, 1.e.
ordinary and preference issued capital plus all the reserves plus the 10% debentures.

(v} General reserves are now ($100 000 + $40 000).

6 (a)  Profif and Loss Appropriation Account for the vear ended 31 December 2006
$ $
Net profit for the year 304 000
Less: Appropriations: .
Transfer to General Reserve 40 000
Final Dividends
Preference 20 000
Ordinary 60 000 120 000
’ 184 000
Add: Profit and Loss Account balance, i
1 January 2006 ‘_2_(3_{_)3151

Ratained profit cff
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(b)  Balance Sheet extract on 31 December 2006

Authorised Share capital $
800 000 $1 Ordinary shares 800 000
400 000 5% Preference shares of §1 each 400 000
1.200 000
Issued Share capital
600 000 $1 Ordinary shares fully paid 600 000
400 000 5% Preference shares of $1 each fully paid 400 000
1 000 000
Reserves
General Reserve ($100 000 + $40 000) 140 000
Profit and Loss Account . 250 000
Total shareholders funds 1 390 000
10% Debentures 210 000
Total Capital Funds 1600 000
Question 7
Hints

(i) Do not copy the whole sentence as you will not get more marks for that.

(i)  Order of your answers is very important therefore number your answers accordingly.

(iii) Remember that subscriptions reczivable in arrears represent debtors for subscriptions
therefore they should be reflectec. as a current asset in the balance sheet.

4 (a) (i) Gains (ii)  Expenses
{b) Sales/Debtors
(¢ Voucher
(d)  Principle
(e) Deficit/excess expenditure over income
(f) Suspense

_ (2) (i) Current assets (ii) Current hiabilities
(h) Disposal
(i) Overstated/overvalued/more

() Current assets
(k)  Prime costs
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SECTION A
Answer all questions in this section.
Shiri and Patai are trading as equal partners. Their partnership deed has the following:
(i) interest on capital is allowed at the rate of 10% per annum.
(ii) interest is charged on drawings at 5% per annum,
(iii) Shiri is entitled to an annual salary of 520 000.

The following information was extracted from the books of the parinership on
31 December 2005 after the preparation of the Trading Account.

$

Capitals, 1 Januvary 2005: Shiri 60 000

Patai 90 000
Current accounts, 1 January 2005:  Shirt 8 600 Dr

Patai 3600 Cr
Drawings: Shiri 15 000

Patai 18 000
Gross Profit for the year 238610
Trade debtors 64 390
Salary paid to Shiri 16 000
Trade expenses 136 060
Motor van 120 000
Trade creditors 43 000
Cash at bank 5760
Rent 12 000
Stock - 39 400
Additional information on 31 Decembe:r 2005
(i) Trade expenses owing $700.
(i)  Prepaid trade expenses ' $320.

(i)  Shiri introduced a personal computer valued at $30 000 on 1 October 2005.
No entry had been made in the books in respect of this transaction.

(iv)  Motor van is to be depreciated by 15% of the book value and the computer
by 10%.

TEEZN N200Y



You are required to prepare:

(a)

(b)

(2)

the partnership Profit and Loss and Appropriation Accounts for the year
ended 31 December 2005, [10]

the Balance Sheet as at 31 December 2005, showing the details of the
partners’ current accounts. [15]

On 1 July 2005, R. Jones had the following balances in his nominal
ledger:

Stationery $11 400 Dr
Salaries and wages $16 800 Cr

During the month of July the following transactions took place:

2005
July 3 Paid $21 900 by cheque for stationery.

10 Paid wages in cash $335 700.
12 Bought stationery on credit from Pax Booksellers for $12 600.

I5 Returned unsatisfactory envelopes to Pax Booksellers valued at
$3 200.

26 Paid salaries by cheque $54 800.

On 31 July 2005 the stock of unused stationery was valued at $8 500 and
$10 000 was owing for wages.

Jones’ financial year ends on 31 July.

Prepare:

(i) the Stationery Account

(ii) the Salaries and Wages Account, [10]

Pay special attention to dates and detail.

T112/1 N2009

[Turn over



(b)

(a)

(b)

4

The following account appeared in the ledger of Batanai Handball club:

Subscriptions Received A/C

2004 2004
Jan 1 Balance (i) b/d 20 000 Jan 1 Balance (ii) b/d
Dec 31 Income & Jun 30 Bank (iii)
Expenditure A/C (v) 850 000 Sept 30 Cash (iv)
31 Balance (vi) ¢/d 70 000
940000
2005
Jan 1 Balance b/d

You are required to:

(i) give information represented by each of the entries numbered
(i) to (vi) in the account,

10 000
580 000
350 000

940 000
70 000

[6]

(1i) state exactly where in the Balance Sheet you would find the closing

balance.

Distinguish between capital expenditure and revenue expenditure.

State which of the following are capital expenditure or revenue
expenditure for a furniture making business:

(i) Purchase of a wood cutting machine for the workshop.

(ii)  Purchase of replacement headlights for the delivery van.
(iii)  Cost of repairing damaged workshop roof.

(iv)  Wages paid to workers making furniture for resale.

(v) Cost of making a desk for the workshop.

(vij  Payment of municipal rates.

(vii)  Cost of extending the furniture workshop.

(viii) Installation of an air conditioning system in the manager’s office.

(ix)  Payment of office salaries.

TH2/1 N2009
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F. Lunga extracted the foliowing trial balance from he: books on 31 December 2005:

Debit Credit |
$ §
250 0006

Stock, 1 Junuary 2003

i
Capizal ! 745 000
Drawings 300 000
Trade debtors L 395000

Trade creditors f; 368 400
Shop fixtures and fitiings i 000
Furchases I
:‘\..i"‘c l
General expenses E
Discount received |
Cash at bank ‘ 100 000
)
]
r
]
i

Fa

000

- fpy
&%

o RS
FENR TS

846 000
106 000
24 000

Rewrns ourwards
Commission earned

4 000
96 600
4 000 ; 1 084 000

+he following errors and oniissions were subseauently discoverad:

0 o reeord bad beer mude for a delivery van worth $900 000 brought in by the
owner on February |,

dit A purchase of shop Stings $30 000 had beer debited 1o Purchases Agcount,

il included in the general expenses is $60 000 used by Lunga to pav her private

teiephone bill,

(ivi A sales invoice of S44G 000 emered in the sales dav hook had not been posted
1o the customer’s personal account.

e AW

A% Yhe purchases day bool was undercast by $79 00C.

(Vi) A credit note for $10 000 issuzd by L UngE 10w customer had been completely
omitted from the b

]

(Vi) A credii baiance of $110 000 in the purchases izdger had been omitted irom
the trial balance,

You ara reguized o

23

et

fa) snow the jowmal entnies necessany . orrect the above srrors Narrations
are not required, il
{b) write & corrected rial Belance as at 31 Decermber 2005, [6]

{Turn over
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SECTION B
ANSWar any two Juzstions from this section.

M. Mambo operaizs @ busingss 3¢ ¢ rewiler. The following information is found
in her records at the end ot the financia vear ended 31 December 2005:
s

Purchases 456 000

Sales 609 060

Opening stoch 11 000

Ciosing stock 39 000

Sales returns 9 000

Purchases returns 3 060

Customs duty 15 600

You are required 1o cajculate

(a) he wrnover for the vear,
(b} the cost of goods sols,
(¢} the gross profit.

(di  the mark up.
{e} U margin,

o the rate of stock-wurn.



T

On 1 January 2005, E. Mwase started a business with $500 000 in a business bank

account. On the same day he brought into the business his personal furniture
worth $100 000. Mwase does not maintain proper accounting records.

The following information is made available on 31 December 2005:

N
Moter vehicles, at cost 200 000
Furniture, at cost 100 000
Stock 110 000
Debtors 90 000
Bank 70 000
Cash 35 000
Creditors 80 000
Prepaid expenses ; 9500
Accrued expenses 5 000

Additional information.

(1) During the year, Mwase withdrew $50 000 cash and goods worth $15 000

from the business for personal use.
(i)  Fixed assets are to be depreciaied as follows:

Motor vehicles 20% on cost,
Furniture 10% on cost.

(iii)  Bad debts of $2 000 are to be written off, and a provision for doubtful
debts of 2% of debtors is to be created.

You are required to prepare a Balance Sheet as at 31 December 2005, showing
clearly the net profit or net loss for the year. '

7112/1 N200Y
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(ivy . General reserves increased by $40.000. i.e. $100 000 - $60 000,

(v) Final preference divided is equal to 10% x 500 000 = $§50 000.

(vi)  Debenture interest = 9% x $300 000 = $27 000,

(vii)  Net trading profit of $327 000 should be adjusted by deducting the debenture interest, 1.e.
$327 000 - $27 000, since it is a profit and loss account item. N.B. Debenture interest should
not be itemised in the Appropriation Account.

T (a) Kushinea Limited Profit and L.oss Appropriation Account for the year ended
31 December 2005

Net Profit b/f (327 000 ~ 27 000) 300.000
Add: Retained Income _45 000
less: 345 000
Transfer to General Reserve 40 000
Interim Ordinary Dividend 35 000
Final Ordmnary Dividend 52 500
Preference final dividend 50 000

177 500
Retained income c/f 167 500

(b) Balance Sheel exiract as at 31 December 2005

Authorised Share Capital

400 000 ordinary shares of $2 each g00 000

GO0 000 10% Preference shares of $1 each 600 600
1,400 000

Issued Share Capital

350 000 ordinary shares at $2 each fully paid 700 000

500 000 10% Preference shares at $ 1 each fully paid 500 000
1 200 000

Reserves

General Reserve 100 000

Retained Income 167 500

: 267500

Total shareholders” Funds 1467 500
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SECTION A
Answer all questions in this section,
Shiri and Patai are trading as equal partners. Their partnership deed has the following:
(1) interest on capital is allowed at the rate of 10% per annum.
(i) interestis charged on drawings at 5% per annum,
(1ii) Shiri is entitled to an annual salary of $20 000.

The following information was extracted from the books of the partnership on
31 December 2005 afier the preparation of the Trading Account.

$

Capitals, 1 January 2005: Shiri 60 000

Patai 90 000
Current accounts, 1 January 2005:  Shiri 8 600 Dr

Patai 3 600 Cr
Drawings: Shiri 15 000

Patai 18 000
Gross Profit for the year 238 610
Trade debtors 64 390
Salary paid to Shiri 16 000
Trade expenses 136 060
Motor van 120 000
Trade creditors 43 000
Cash at bank 5760
Rent 12 000
Stock - 39 400
Additional information on 31 Decembc: 2005
(i) Trade expenses owing $700.
(i)  Prepaid trade expenses - $320.

(iii)  Shiri introduced a personal computer valued at $30 000 on 1 October 2005,
No entry had been made in the books in respect of this transaction.

(1v)  Motor van is to be depreciated by 15% of the book value and the computer
by 10%.

T2 K200



You are required to prepare:

(a)

(h)

(2)

the partnership Profit and Loss and Appropriation Accounts for the year
ended 31 December 2005, [10]

the Balance Sheet as at 31 December 2005, showing the details of the
partners’ current accounts. [15]

On 1 July 2005, R. Jones had the following balances in his nominal
ledger:

Stationery $11 400 Dr
Salaries and wages $16 800 Cr

During the month of July the following transactions took place:

2003

July 3 Paid $21 900 by cheque for stationery.
10 Paid wages in cash $35 700.
12 Bought stationery on credit from Pax Booksellers for $12 600.

15 Returned unsatisfactory envelopes to Pax Booksellers valued at
$3 200.

26 Paid salaries by cheque $54 800.

On 31 July 2005 the stock of unused stationery was valued at $8 500 and
$10 000 was owing for wages.

Jones’ financial year ends on 31 July.

Prepare:

(i) the Stationery Account

(ii) the Salaries and Wages Account. [10]

Pay special attention to dates and detail.

711271 N2Z00%
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(b)

(a)
(b)

4
The following account appeared in the ledger of Batanai Handball club:

Subscriptions Received A/C

2004 2004
Jan1 Balance (i) b/d 20 000 Jan 1 Balance (ii) b/d
Dec 31 Income & Jun 30 Bank (iii)
Expenditure A/C (v) 850 000 Sept 30 Cash (iv)
31 Balance (vi) ¢/d 70 000
940 000
2005
Jan 1 Balance b/d

You are required to:

(i) give information represented by each of the entries numbered
(i) to (vi) in the account,

10 000
580 000
350 000

940 00

70 000

[6]

(1i) state exactly where in the Balance Sheet you would find the closing

balance.

Distinguish between capital expenditure and revenue expenditure.

State which of the following are capital expenditure or revenue
expenditure for a furniture making business:

(i) Purchase of a wood cutting machine for the workshop.

(if)  Purchase of replacement headlights for the delivery van.
(iii)  Cost of repairing damaged workshop roof.

(iv)  Wages paid to workers making furniture for resale.

(v) Cost of making a desk for the workshop.

(vi}  Payment of municipal rates.

(vii)  Cost of extending the furniture workshop.

(viii) Installation of an air conditioning system in the manager’s office.

(ix)  Payment of office salaries.

T112/1 N2009

[1]

[4]



iy

Lunga extracted the foliowing trial balance from hel books on 31 December 2005:

| Debit Credit

5 % $
Stock. 1 January 2005 : 250 000
Capiial 5 745 000
Drawings L300 000
Trade debtors | 3 93 GO0
Trade creditors 5 368 400
Shop fixtures and fittings 253 000
Purchases 61a 000 o
Sajes | 846 060
General expenst [ 106 000
Discount r.,c.u\xd 24 000
Cash at bank L1606 000
Rewurns ourwards | 4 000
Commission earned 96 600

A082.006 ! 1084 60O |

The following errors and onssions were subsequently discovered:

(1) No reeord bad beer made for u delivery van worth $900 000 brought in by the
wner on February |

{13 A purshase of shop Stinges £30 000 had been debited 1o Purchases Account,
dibe included in the general expenses is $60 000 used by Lunga to pay her private
telephone bil!

(v A sales invoice of $440 000 emered in the sales dav book nad not been posted
1o the customer’s persvna; account.

oD Ihe purchases diy booll was undercast by $70 00C.
(Vi) A credi note for $10 000 issued by Lunge o & customer had been completely

omitted from the books.

(vil) A credit baiance of $110 000 in the purchases Jedger had been omitied from
the trial balance.

Y ou arz reguired 1o

{a) snow the Towrsal catnes necessary . orrect the above zirors  Narrations
are not required, (13}
{b) write 2 corrected Trin! Balance as at 51 Decerber 2003. [6]
" '-';J. JIALYS

{Turn over
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ANSWer any

M. Mambo oparaizs a business

in her records at the end ot the

Purchases

Sales

Opening stoch
Closing stock
Sales returs
Purchases returns

Customs duty

You are required 1o caiculate

O
SECTION B

Wo questions from this section.

ware

av e retouer, The following information is found

imancin vear ended 31 December 2005

Ay
50 000
609 000

21 000
39 600
9 000
3060
15 600

{a) the wurnover for thy vear,
(b} the cost of voods salz,
(¢ the gross profit.

{ed) the mark up

{e} U

nargin,

(f) the raie of stoch-tum,

LPY ]

Ny
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On 1 January 2005, E. Mwase started a business with $500 000 in a business bank

account. On the same day he brought into the business his personal furniture
worth $100 000. Mwase does not maintain proper accounting records.

The following information is made available on 31 December 2005:

$
Motor vehicles, at cost 200 000
Furniture, at cost 100 000
Stock 110 000
Debtors 90 000
Bank 70 000
Cash . 35 000
Creditors 80 000
Prepaid expenses 9500
Accrued expenses 5000

Additional information.

(1) During the year, Mwase withdrew $50 000 cash and goods worth $15 000

from the business for personal use.
(i)  Fixed assets are to be depreciated as follows:

Motor vehicles 20% on cost,
Furniture 10% on cost.

(iii)  Bad debts of $2 000 are to be written off, and a provision for doubtful
debts of 2% of debtors is to be created.

You are required to prepare a Balance Sheet as at 31 December 2005, lshowing
clearly the net profit or net loss for the year.

TH2/1 N200Y

[13]
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The following information was taken from the books of Kushinga Limited.

Authorised Share Capital $
400 000 Ordinary shares of $2 each 800 000
600 000, 10% Preference shares of $1 each 600 000
Issued Share Capital

350 000 ordinary shares of $2 each 700 000
500 000, 10% Preference shares of $1 cach _ 500 000
Reserves

General reserve 60 000
Profit and Loss Account, 1 January 2005 45 000

3 000, 9% Debentures of $100 each 300 000

During 2003. an interim dividend 01" 10 cents per share was paid on Ordinary Shares.
The profit before allowing for debenture interest was $327 000.

On 31 December 2005 the directors recommend that

(1) the General Reserve be increased to $100 000,

(i) a full vear’s dividend be paid on Preference Shares and a final dividend of
15 cents per share be paid on Ordinary Shares.

You are required to prepare: .

(a) the Profit and Loss Appropriation Account for the year ended 31 December
2005, [6]

(b) the Balance Sheet extract showing the details and total of the shareholders
equity. {71

711271 N200Y
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Question 1
Hints

This is a typical question on partnership final accounts where the trading account was done for you
since gross profit is given.

(i) $16 000 of the $20 000 annual salary for Shiri has been paid during the year and only the
balance of $4 000 is credited to his current account,

(ii)  The personal computer valued at $30 000 introduced by Shiri is additi onal capital. This
increased his capital (60 000 + 30 000) to $90 000 from 1 October 2005,

. Calculation of his interest on capital will be:- X
(10%x $60000% %)+  (10% % $90 000 X “/12)
= 4 500 + 2250
= $6 750
(iii)  Interest on drawings is an ad dition to net trading profit, therefore should be credited to the
appropriation account.

(iy)  Depreciation on motor vans: Depreciation on Office equipment:
/100 % $120 000 /100 X $30 000
= $18 000 = §3 000

(v)  N.B.in order to get marks, remember to show the details of the partners’ current accounts
within the balance sheet; or they can be prepared outside the Balance Sheet BUT remember
to transfer their balances 1o the balance sheet.

1 (a) Shiri and Patai Partnership:
Profit and Loss and Appropriation Account for the year ended 31 December
2008
: $ )
Gross Profit 238 610
Less: Operating expenses
Trade expenses 136 060
Add: Amount due 700
136 760
Less: Amount prepaid___ 320 136 440
Depreciation:
On motor van 18 000
On office Equipment 3 000
Rent 12 000 169 440
Net Trading Profit 69170
Add: Inierest on Drawings
Shiri 750
Patai —..200 1650
Less: Inierest on capital 70 820
Shiri 6 750
Patai 9 000
Partner” : salary:
Shiri 20 000 35 750
Share of Net Profit 38070
Shiri 17 535
Patai 17535 35070




(b)

Question 2

Hints

Shiri and Patai; Balance Sheet as at 31 December 2005

3

Capital Employed: $ $ b
Shiri 90 000
Patai 90 000 180 000
Current Accounts Shiri Patai
Balances b/f 8§ 600 DR 3600 CR
Add: Share of Profit 17 535 17,535
8 933 21135
Add: Interest on capital 6750 9 000
Salary 4000 PR
19 685 30135
less: Drawings 15 000 18 000
4 685 12135
less: Interest on
drawings _750 900
3935 CR. 11235 CR 15170
195170
Emplovment of Capital
Fixed Asset at Cost less:, Depreciation, N.B. V.
Motor vans 120 000 18 000 102 000
Office Equipment 30000 3 000 _27.000
150 000 21.000 129 000
Current Assets
Stock 39 400
Debtors 64 390
Prepaid Expenses 320
Bank _ 51760
109 870
Less: Current liabilities
Creditors 43 000
Amount owing ___700
' 43700
Working Capital 66170

This is a common question testing students their knowledge on double entry system. You must
remember that whenever expense accounts are opened, the objective is to calculate the correct.

expense for the year to be charged in the profit and loss account/Income and expenditure Account.

(i) A debit balance at the beginning in the stationery account represents unused stationery
carried forward from the previous year.
(i) A credit balance at the beginning in the salaries and wages account represents the amount
which remained unpaid in the previous year and is being carried forward and must be paid
in the current year,
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(iii)  Envelopes returned to Pax Booksellers on 15 July are not returns outwards because
stationery is an expense not the goods in trade for this firm.
(v) N.B. Atthe end of the financial year there is stock of unused stationery worth $8 500 and

wages owing for $10 000,

(v)  Like in any ledger accounts, you must pay special attention to dates and details.

2 (a) Stationery Account
2005 2005
Jul 1 Balance b/d 11 400 Jul 15 Pax Boksellers 3 200
3 Bank 21 900 31 Profit & Loss 34 200
12 Pax Booksellers 12 600 Balance ¢/d _83500
45 900 45 900
Aug. 1 Balance b/d 8 500
* Salaries and wages Account
2005 2003
Jul 10 Cash 35700 Jul 1 Balance b/d 16 800
26 Bank 54 800 31 Profit & Loss 83 700
31 Balance c¢/d 10 000 "
100 500 100 500
Aug 1 Balance b/d 10 000
(b) (i) Subscriptions in arrears/owing

(i)  Prepaid subscriptions for 2004

(iii)  Cheques received for subscriptions
(iv)  Cash received for subscriptions

(v) Subscriptions for 2004
(vi)  Prepaid subscriptions for 2005

(c) Current liabilities

Question 3

Hints

Remember to give a definition NOT to give examples. On capital expenditure, it is not just the

acquisition of assets but acquisition of fixed assets.

3(a) Capital expenditure is spending money acquiring fixed assets or adding value to existing
fixed assets, whereas revenue expenditure is spending money on the day to day running

expenses of the business.

3(b)y (1) Capital expenditure
(ii) Revenue expenditure
(iif)  Revenue expenditure
(iv)  Revenue expenditure
v) Capital expenditure
(vi)  Revenue expenditure
(vii)  Capital expenditure
(vii1) Capital expenditure
(ix)  Revenue expenditure
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Ouestion <

Hins

This is a common question on erors ang the Tria Balance  When correcting the error take nowe of
those which upses the trial baiance as the correction should pass via the suspense account and for

those six which do not upsei ihe trizl balance  You have 1o figure out the two accounts mvolved for
Jjoursal en, the debit and the credit entrv shouid have

VRO TOUTTI 21Ty

L wl e s L. o el
each journal emirv. Remamber tha for sacn

the same amoun. unlsse it11 45 o -

4 {a Debit Credit

(i} Deliverv van 900 000
Capnai 96U 000
(1i) Shoep fitungs S0 000

Purchasas 50000

(iif)  Droawmgs 60 000

Genera! expenses 60 000
fivy  Debiore 40 000

Suspinse 40 000
(V) Purchases TCO00

Sugpenss 70 000
(vi) eturns Imvwards Saies retums e Qo6

Drebiors 10 000

(viid  Suspense VIO 0O

Creditom

“h Trial Balanee us a1 31 Drecemher 2005,
b hY
Stock 250 000
Capital {745 64 = 000 1 645 000
T)i‘;:\\'lr.-f_;s {300 U0 = a6l L) 360000
Tragse débh:rrz‘ (RO5 000~ A0 000 ~ FOOhe 475 000

Trade crediiors (368 400 = 110 0000 478 400
Sales 85406 000
Shop fintures & ittiags (252 GO0~ 20 00 303 000
Purchases (61 000 - S0 000 = 70000 G4 000

— &0 D00 46 00U

T - X PO i 'y
General expensas (F00 000

Discount recatver 24 000
Cash at bank 166 000
Returns ounvarg: 4 QU0
Commission eurmec Q0 HOL
Dehiver van # GO0 000
Returs int ards IR




Ouestion £

Tinte

[N

This question 18 1esting the siudent s snowledyge and application of the accounting ratios. If you
decide 10 work out & Tragimg Accoun. 1o answer 3 (al. (b). and {¢) ther make sure that vou maicate
within the accou Vour ansviers (o the aboie part questions. or you can list down vour answers

piching them fron the trading aceount

{1 Warkinas are very impertas sines ey varn their oW mars.
(1) Numoering isven o amponant warder to earn ali the marks
(i Remember thut i there 1s 4 o <3 profit the rano {or the markup is always greaier than that

of the margu.

() NB Rate of stoch wirn muss Peowrilen as o number of tines

& fa) Tumoever L) - S DR
e T
(by  Cosi ol goods soud!
(20 U0 - 256 006 - 15 000 - 300U - 39 000)
S AL O
(el Ciross Profin = o I D00 =280 000
b))
il Mark-y = frd
it
in g SR
el e 1
= SN o
(e} Dbl £ R N [
AL LR
(T Rate of siock-iun

S8
A Ot



Question 6

Hints

This is a question on single entry where you are required to calculate net profit or loss within the
balance sheet.

(1) Opening capital is made up of cash at the bank, i.e. $500 000 plus personal furniture brought
in worth $100 000, i.e. ($500 000 + $100 000).

(i)  To calculate closing capital, compare the asset and liabilities at the end, 1.e. on 31 December
2005,

(i)  Drawings areequal to (340 000 + §15 000 worth of goods).

6 E._Mywase: Balance Sheet as at 31 December 2005
Fixed Assets at Cost jess: Depr | N.B.V
: $ $ $
Motor vehicles 200 000 40 000 160 000
Furnifure 100 000 10 000 50 000
' 300 000 | 50000 250 000
Current Assets
Stock 110 000
Debtors 90 000
~ 2000
= 1760 86 240
Prepayments 9 500
Bank 70 000
Cash 35000
' 310 740
Jess: Current liabilities
Creditors 80 000
Accruals 5000 85 000 225 740
475 740
Financed by:
Capital (500 000 + 100:000) 600 000
less: Net loss 59260
' 54() 940
less: Drawings (50 000 + 15 000) - _65 000
478740

Question 7
Hints and Workings

This question requires students to display their knowledge in company accounts focusing on the
appropriation account and the company's capital structure, and in this question calculating the
shareholders’ equity. Students must remember that the shareholder’s equity is made up of the total
ordinary and preference share capital issued plus the reserves.

(i) Profit and loss account, 1 January 2005 represents profits retained in 2004 to 2005.
(i1) Interim ordinary dividend is equal to 10¢ x 350 000 shares = $33 000.

100c¢
x 350 000 shares = $52 500.

(iif)  Final ordinary dividend is equal to 15¢»
100¢
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(ivy . General reserves increased by $40-600, i.e. $100 000 - $60 000,

(v)  Final preference divided is equal to 10% x 500 000 = $50 009,

(vi)  Debenture intsrest = 9% x $300 000 = $27 000.

(vii)  Net trading profit of $327 000 should bé adjusted by deducting the debenture interest, i.e.
$327 000 - $27 000, since it is a profit and loss account item. N.B. Debentule interest should
not be itemised in the Appropriation Account,

¥ (a) Kushinga Limited Profit and Loss Appropriation Account for .ﬂ_ge vear ended
31_December 2005

Net Profit b/f (327 000 ~ 27 000) 300.000
Add: Retained Income 45 000
less: 345 000
Transfer to General Reserve 40 000
Interim Ordinary Dividend 35 000
Final Ordinary Dividend 52 500
Preference final dividend 50000

177 300
Retained income c/f 167 500

(b) Balance Sheet extract as at 31 Decernber 2005

Authorised Share Capital

400 000 ordinary shares of $2 each 800 000

6L0 000 10% Preference shares of $1 each __600 600
1,400 000

Issued Share Capital _

350 000 ordmary shares at $2 each fully paid - 700 000

500 000 10% Preference shares at $ 1 each fully paid 500000
1200 000

Reserves

General Reserve 100 000

Retained Income 167 500

’ 267 500

Total shareholders” Funds 1467 500



